					Youngblood	Paving Inc	Shields Asnh	alt Paving Inc	A. Libero	ni Inc	Tresco Paving	Cornoration	A. Folino Cons	truction Inc
Section Title	Item Code	Item Description	UofM	Quantity	,	Extension	Unit Price	Extension		Extension		Extension		Extension
Base Bid Total:	item code	rean bescription	00	Quantity	Onicific	\$2,035,852.10	OTHE T TICE	\$2,158,684.15	OTHER THEE	\$2,465,358.72	OTHE T TICE	\$2,509,703.20	Oille i i i i i	\$2,700,410.42
BASE BID - FOX (CHAPEL BOROL	JGH				\$1,164,068.50		\$1,210,963.25		\$1,377,459.24		\$1,421,005.00		\$1,510,705.80
		Roadway Milling/Profiling, Variable Depth, as directed	SY	48000	\$2.60	\$124,800.00	\$2.50	\$120,000.00	\$2.60	\$124,800.00	\$5.00	\$240,000.00	\$3.32	\$159,360.00
		3/4" Average Depth, Superpave WMA Wearing (Leveling) Course, 9.5	TONS	1650	\$96.83	\$159,769.50	\$106.00	\$174,900.00	\$119.57	\$197,290.50	\$112.00	\$184,800.00	\$121.25	\$200,062.50
		2.5" Average Depth, Superpave WMA Binder Course, 19 mm, 0 to 0.		2600	\$88.32	\$229,632.00	\$88.00	\$228,800,00	\$98.88	\$257,088.00	\$104.00	\$270,400.00	\$106.08	\$275,808.00
	F-4	1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R		48000	\$8.78	\$421,440.00	\$9.00	\$432,000.00	\$10.35	\$496,800.00	\$10.40	\$499,200.00	\$10.52	\$504,960.00
	F-5A	Base Repair including 10" Unclassified Excavation, Class IV Fabric, Ins		3800	\$29.75	\$113,050.00	\$30.00	\$114,000.00	\$45.34	\$172,292.00	\$28.00	\$106,400.00	\$44.85	\$170,430.00
	F-5B	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa		40	\$45.00	\$1,800.00	\$45.00	\$1,800.00	\$73.19	\$2,927.60	\$124.00	\$4,960.00	\$71.75	\$2,870.00
	F-6	3' Minimum Width Keyway Milling	LF	850	\$1.00	\$850.00	\$1.00	\$850.00	\$2.99	\$2,541.50	\$1.00	\$850.00	\$1.65	\$1,402.50
	F-7	Bituminous Wedge Curb	LF	19800	\$0.15	\$2,970.00	\$0.30	\$5,940.00	\$0.50	\$9,900.00	\$1.00	\$19,800.00	\$2.03	\$40,194.00
	F-8	Adjust Inlets to Grade	EA	44	\$390.00	\$17,160.00	\$250.00	\$11,000.00	\$376.30	\$16,557.20	\$400.00	\$17,600.00	\$966.61	\$42,530.84
	F-9	Adjust Manholes to Grade	EA	27	\$390.00	\$10,530.00	\$260.00	\$7,020.00	\$339.87	\$9,176.49	\$615.00	\$16,605.00	\$354.03	\$9,558.81
	F-10	Adjust Valve Boxes to Grade	EA	7	\$100.00	\$700.00	\$75.00	\$525.00	\$38.74	\$271.18	\$75.00	\$525.00	\$78.98	\$552.86
	F-11	Adjust Water Blowoffs to Grade	EA	1	\$500.00	\$500.00	\$550.00	\$550.00	\$156.26	\$156.26	\$500.00	\$500.00	\$78.98	\$78.98
	F-12	Maintenance and Protection of Traffic during Construction as per Pe	LS	1	\$26,500.00	\$26,500.00	\$53,000.00	\$53,000.00	\$26,767.47	\$26,767.47	\$5,000.00	\$5,000.00	\$36,022.86	\$36,022.86
	F-13A	Linestriping - 4" Double Solid Yellow (Thermoplastic)	LF	7200	\$3.50	\$25,200.00	\$3.90	\$28,080.00	\$3.92	\$28,224.00	\$3.50	\$25,200.00	\$4.31	\$31,032.00
	F-13B	Linestriping - 4" Double Solid Yellow (Waterborne)	LF	800	\$2.00	\$1,600.00	\$2.23	\$1,784.00	\$2.24	\$1,792.00	\$2.00	\$1,600.00	\$2.46	\$1,968.00
	F-13C	Linestriping - 4" Single Solid White (Thermoplastic)	LF	13200	\$1.75	\$23,100.00	\$1.95	\$25,740.00	\$1.96	\$25,872.00	\$1.75	\$23,100.00	\$2.15	\$28,380.00
	F-13D		LF	900	\$1.00	\$900.00	\$1.11	\$999.00	\$1.12	\$1,008.00	\$1.00	\$900.00	\$1.23	\$1,107.00
	F-13E	Type C Perpendicular Crosswalk (Thermoplastic)	LF	180	\$18.00	\$3,240.00	\$20.06	\$3,610.80	\$20.16	\$3,628.80	\$18.00	\$3,240.00	\$22.14	\$3,985.20
	F-13F	White Lettering or Number Marking (Thermoplastic)	LF	1	\$75.00	\$75.00	\$83.59	\$83.59	\$84.00	\$84.00	\$75.00	\$75.00	\$92.26	\$92.26
	F-13G	Linestriping - 24" Solid White Stop Bar (Thermoplastic)	EA	1	\$252.00	\$252.00	\$280.86	\$280.86	\$282.24	\$282.24	\$250.00	\$250.00	\$309.99	\$309.99
BASE BID - O'HA		0 1 ANN 10 CH 11 T	au.			\$721,422.30		\$767,651.64		\$929,727.84		\$938,178.20		\$1,016,552.87
	0-1A	Roadway Milling / Profiling, Variable Depth	SY	23000	\$2.71	\$62,330.00	\$2.50	\$57,500.00	\$3.18	\$73,140.00	\$8.00	\$184,000.00	\$4.66	\$107,180.00
	O-2A	Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber		1900 2000	\$85.28 \$81.84	\$162,032.00	\$95.00 \$95.00	\$180,500.00	\$114.79 \$115.49	\$218,101.00	\$100.00 \$100.00	\$190,000.00	\$119.55 \$118.21	\$227,145.00
	O-2B	Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber				\$163,680.00		\$190,000.00		\$230,980.00		\$200,000.00		\$236,420.00
	O-3A O-3B	1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber Re		12500 11250	\$9.24 \$8.33	\$115,500.00	\$9.00 \$9.00	\$112,500.00 \$101,250.00	\$10.35 \$10.36	\$129,375.00	\$10.70 \$10.70	\$133,750.00 \$120,375.00	\$12.16	\$152,000.00
	0-3B 0-4A	1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber Re Base Repair including 10" Unclassified Excavation, Class IV Fabric, Ins		1900	\$29.75	\$93,712.50 \$56,525.00	\$9.00	\$57,000.00	\$10.36	\$116,550.00 \$91,143.00	\$30.00	\$57,000.00	\$11.30 \$44.85	\$127,125.00 \$85,215.00
	0-4A 0-4B	Trench Repair including 6" Unclassified Excavation, class iv Fabric, ins		1900	\$45.00	\$4,500.00	\$45.00	\$4,500.00	\$75.06	\$7,506.00	\$50.00	\$5,000.00	\$71.75	\$7,175.00
	0-46	3' Minimum Width Keyway Milling	15	570	\$1.00	\$570.00	\$1.00	\$570.00	\$3.12	\$1,778.40	\$1.00	\$5,000.00	\$1.64	\$934.80
	0-5	Restoration of Lawn Areas (3' Average Width)	I F	6300	\$1.00	\$7,875.00	\$1.00	\$6,300.00	\$1.40	\$8,820.00	\$1.40	\$8,820.00	\$1.97	\$12,411.00
	0-7	Maintenance and Protection of Traffic during Construction as per Pe		1	\$18,600.00	\$18,600.00	\$23,000.00	\$23,000.00	\$16,399.24	\$16,399.24	\$10,000.00	\$10,000.00	\$22,822.91	\$22,822.91
	0-8C	Linestriping - 4" Single Solid or Dashed White (Thermoplastic)	LF	3100	\$1.75	\$5,425.00	\$1.95	\$6,045.00	\$1.96	\$6,076.00	\$1.75	\$5,425.00	\$2.15	\$6,665.00
	0-8D	Linestriping - 4" Double Solid Yellow (Thermoplastic)	I F	4000	\$3.50	\$14,000.00	\$3.90	\$15,600.00	\$3.92	\$15,680.00	\$3.50	\$14,000.00	\$4.31	\$17,240.00
	0-8E	Linestriping - 24" Yellow Gore (Thermoplastic)	I.F	130	\$18.00	\$2,340.00	\$20.06	\$2,607.80	\$20.16	\$2,620.80	\$0.14	\$18.20	\$22.14	\$2,878.20
	O-8F	Linestriping - 24" White Gore (Thermoplastic)	I F	20	\$18.00	\$360.00	\$20.06	\$401.20	\$20.16	\$403.20	\$18.00	\$360.00	\$22.14	\$442.80
	0-8H		EA	36	\$75.00	\$2,700.00	\$83.59	\$3,009.24	\$84.00	\$3,024.00	\$75.00	\$2,700.00	\$92.26	\$3,321.36
	0-12	Edgeline Rumble Strips	LF	3080	\$3.66	\$11,272.80	\$2.23	\$6,868.40	\$2.64	\$8,131.20	\$2.00	\$6,160.00	\$2.46	\$7,576.80
BASE BID - SHAR	RPSBURG BORG	DUGH				\$150,361.30		\$180,069.26		\$158,171.64		\$150,520.00		\$173,151.75
	S-1	Roadway Milling / Profiling, Variable Depth	SY	3400	\$7.20	\$24,480.00	\$7.00	\$23,800.00	\$3.89	\$13,226.00	\$11.00	\$37,400.00	\$6.57	\$22,338.00
	S-2	Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber	TONS	510	\$124.08	\$63,280.80	\$130.00	\$66,300.00	\$121.57	\$62,000.70	\$107.00	\$54,570.00	\$133.93	\$68,304.30
	S-3	1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber Re	SY	3400	\$11.19	\$38,046.00	\$15.00	\$51,000.00	\$11.61	\$39,474.00	\$12.00	\$40,800.00	\$13.90	\$47,260.00
	S-4	Base Repair including 10" Unclassified Excavation, Class IV Fabric, Ins	SY	590	\$29.75	\$17,552.50	\$35.00	\$20,650.00	\$45.34	\$26,750.60	\$25.00	\$14,750.00	\$44.85	\$26,461.50
	S-5	3' Minimum Width Keyway Milling	LF	185	\$1.00	\$185.00	\$1.00	\$185.00	\$2.99	\$553.15	\$1.00	\$185.00	\$1.65	\$305.25
	S-6	Maintenance and Protection of Traffic during Construction as per Pe	LS	1	\$5,800.00	\$5,800.00	\$17,000.00	\$17,000.00	\$2,250.39	\$2,250.39	\$1,800.00	\$1,800.00	\$7,230.91	\$7,230.91
	S-7A	Linestriping - 4" Double Solid Yellow (Thermoplastic)	LF	170	\$4.50	\$765.00	\$5.02	\$853.40	\$41.28	\$7,017.60	\$4.50	\$765.00	\$5.54	\$941.80
	S-7B	Linestriping - 24" Solid White Stop Bar (Thermoplastic)	EA	1	\$252.00	\$252.00	\$280.86	\$280.86	\$6,899.20	\$6,899.20	\$250.00	\$250.00	\$309.99	\$309.99
ADD ALTERNATE		DRELAND FARMS DRIVE (FOX CHAPEL BOROUGH)				\$60,805.73		\$65,368.00		\$72,683.05		\$75,722.00		\$77,700.69
	F-1	Roadway Milling/Profiling, Variable Depth, as directed	SY	2850	\$2.60	\$7,410.00	\$2.50	\$7,125.00	\$2.11	\$6,013.50	\$5.00	\$14,250.00	\$2.13	\$6,070.50
		3/4" Average Depth, Superpave WMA Wearing (Leveling) Course, 9.5		156	\$96.83	\$15,105.48	\$106.00	\$16,536.00	\$119.57	\$18,652.92	\$112.00	\$17,472.00	\$120.53	\$18,802.68
	F-4	1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R		2850	\$8.78	\$25,023.00	\$9.00	\$25,650.00	\$10.35	\$29,497.50	\$10.40	\$29,640.00	\$10.31	\$29,383.50
	F-5A	Base Repair including 10" Unclassified Excavation, Class IV Fabric, Ins		285	\$29.75	\$8,478.75	\$30.00	\$8,550.00	\$45.34	\$12,921.90	\$28.00	\$7,980.00	\$44.85	\$12,782.25
	F-6	3' Minimum Width Keyway Milling	LF	90	\$1.00	\$90.00	\$1.00	\$90.00	\$2.99	\$269.10	\$1.00	\$90.00	\$1.68	\$151.20
	F-7	Bituminous Wedge Curb	LF	2390	\$0.15	\$358.50	\$0.30	\$717.00	\$0.50	\$1,195.00	\$1.00	\$2,390.00	\$2.03	\$4,851.70
	F-8	Adjust Inlets to Grade	EA	6	\$390.00	\$2,340.00	\$250.00	\$1,500.00	\$376.30	\$2,257.80	\$400.00	\$2,400.00	\$748.05	\$4,488.30
ADD ALTERNATION	F-12	Maintenance and Protection of Traffic during Construction as per Pe	LS	1	\$2,000.00	\$2,000.00	\$5,200.00	\$5,200.00	\$1,875.33	\$1,875.33	\$1,500.00	\$1,500.00	\$1,170.56	\$1,170.56
ADD ALTERNATE		RS RIDGE ROAD (FOX CHAPEL BOROUGH)	CV	4750	42.50	\$100,485.70	42.52	\$107,149.00	62.11	\$120,438.30	45.00	\$124,545.00	42.12	\$127,732.42
	F-1	Roadway Milling/Profiling, Variable Depth, as directed	DY Y	4750	\$2.60	\$12,350.00	\$2.50	\$11,875.00	\$2.11	\$10,022.50	\$5.00	\$23,750.00	\$2.13	\$10,117.50
	F-2	3/4" Average Depth, Superpave WMA Wearing (Leveling) Course, 9.1		265 4750	\$96.83	\$25,659.95	\$106.00	\$28,090.00	\$119.57	\$31,686.05	\$112.00	\$29,680.00	\$120.53	\$31,940.45
	F-4	1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R			\$8.78	\$41,705.00	\$9.00	\$42,750.00	\$10.35	\$49,162.50	\$10.40	\$49,400.00	\$10.31	\$48,972.50
	F-5A F-6	Base Repair including 10" Unclassified Excavation, Class IV Fabric, Ins	I F	475 135	\$29.75 \$1.00	\$14,131.25 \$135.00	\$30.00	\$14,250.00 \$135.00	\$45.34 \$2.99	\$21,536.50 \$403.65	\$28.00 \$1.00	\$13,300.00 \$135.00	\$44.85 \$1.66	\$21,303.75
	F-6 F-7	3' Minimum Width Keyway Milling Bituminous Wedge Curb	LF	3830	\$1.00	\$135.00	\$1.00 \$0.30	\$135.00 \$1.149.00	\$2.99	\$403.65	\$1.00 \$1.00	\$135.00	\$1.66	\$224.10 \$7,774.90
	F-7 F-8		EA	3030	\$390.00	\$2,730.00	\$0.30	\$1,750.00	\$376.30	\$2,634.10	\$1.00	\$3,830.00	\$2.03 \$747.80	\$5,234.60
	F-8 F-10	Adjust Inlets to Grade Adjust Valve Boxes to Grade	EA	2	\$100.00	\$2,730.00	\$250.00	\$1,750.00	\$376.30	\$2,634.10	\$400.00	\$2,800.00	\$747.80	\$5,234.60
	F-10 F-12	Maintenance and Protection of Traffic during Construction as per Pe		1	\$3,000.00	\$3,000.00	\$7,000.00	\$7,000.00	\$3,000.52	\$3,000.52	\$1,500.00	\$1,500.00	\$2,006.66	\$2,006.66
	L-T7	ivianitenance and Protection of Hattic during Construction as per Pe	LO	1	\$3,000.00	\$3,UUU.UU	\$7,000.00	\$7,000.00	\$3,UUU.52	\$3,UUU.52	\$1,500.00	\$1,500.00	\$2,000.06	\$2,UUb.bt

ADD ALTERNATE - T	E A2 TM/INI D	PINE ROAD (FOX CHAPEL BOROUGH)				\$189,300.75		\$183,056.00		\$224,475.97		\$235,708.00		\$240,114.27
 		Roadway Milling/Profiling, Variable Depth, as directed	SV	7050	\$2.60	\$18,330.00	\$1.50	\$10,575.00	\$2.75	\$19,387.50	\$5.00	\$35,250.00	\$3.82	\$26,931.00
		2.5" Average Depth, Superpave WMA Binder Course, 19 mm, 0 to 0.3	TONS	1075	\$88.32	\$94,944.00	\$88.00	\$94,600.00	\$98.88	\$106,296.00	\$104.00	\$111,800.00	\$100.91	\$108,478.25
		1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R		7050	\$8.78	\$61,899.00	\$9.00	\$63,450.00	\$11.59	\$81,709.50	\$10.40	\$73,320.00	\$10.52	\$74,166.00
		Base Repair including 10" Unclassified Excavation, Class IV Fabric, Ins		7030	\$29.75	\$2,112.25	\$30.00	\$2,130.00	\$45.34	\$3,219.14	\$28.00	\$1,988.00	\$44.84	\$3,183.64
			LF	130	\$1.00	\$130.00	\$1.00	\$130.00	\$2.99	\$388.70	\$1.00	\$130.00	\$1.63	\$211.90
			LF	5570	\$0.15	\$835.50	\$0.30	\$1,671.00	\$0.50	\$2,785.00	\$1.00	\$5,570.00	\$2.05	\$11,418.50
			EA	15	\$390.00	\$5,850.00	\$250.00	\$3,750.00	\$421.46	\$6,321.90	\$400.00	\$6,000.00	\$747.95	\$11,219.25
 			EA	2	\$100.00	\$200.00	\$75.00	\$150.00	\$38.74	\$77.48	\$75.00	\$150.00	\$78.98	\$157.96
		Maintenance and Protection of Traffic during Construction as per Pel		1	\$5,000.00	\$5,000.00	\$6,600.00	\$6,600.00	\$4,290.75	\$4,290.75	\$1,500.00	\$1,500.00	\$4,347.77	\$4,347.77
ADD ALTERNATE E		PINE COURT (FOX CHAPEL BOROUGH)	LJ	1	\$3,000.00	\$49,563.25	30,000.00	\$48,585.00	34,230.73	\$58,296.03	\$1,500.00	\$60,345.00	34,347.77	\$62,813.65
ADD ALTERNATE - F			SY	1650	\$2.60	\$4,290.00	\$1.50	\$2,475.00	\$2.75	\$4,537.50	\$5.00	\$8,250.00	\$3.82	\$6,303.00
 		2.5" Average Depth, Superpave WMA Binder Course, 19 mm, 0 to 0.3		250	\$88.32	\$22,080.00	\$88.00	\$22,000.00	\$98.88	\$24,720.00	\$104.00	\$26,000.00	\$100.92	\$25,230.00
				1650	\$8.78		\$9.00		\$10.35			\$17,160.00	\$100.92	
 		1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R				\$14,487.00		\$14,850.00		\$17,077.50	\$10.40			\$17,358.00
 		Base Repair including 10" Unclassified Excavation, Class IV Fabric, Ins		165	\$29.75	\$4,908.75	\$30.00	\$4,950.00	\$45.34	\$7,481.10	\$28.00	\$4,620.00	\$44.84	\$7,398.60
			LF LF	65 1150	\$1.00 \$0.15	\$65.00 \$172.50	\$1.00 \$0.30	\$65.00 \$345.00	\$2.99 \$0.50	\$194.35 \$575.00	\$1.00 \$1.00	\$65.00 \$1,150.00	\$1.69 \$2.03	\$109.85 \$2,334.50
			FA	1150	\$390.00	\$1,560.00	\$250.00	\$1,000.00	\$376.30	\$1,505.20	\$400.00	\$1,600.00	\$748.19	\$2,334.30
				4	\$2,000,00	\$1,560.00	\$2,900.00	\$1,000.00	\$2,205.38	\$1,505.20	\$400.00	\$1,500.00	\$1,086.94	\$2,992.76
ADD ALTERNATE I		Maintenance and Protection of Traffic during Construction as per Pe	LS	1	\$2,000.00	1 /	\$2,900.00	1 /	\$2,205.38	7-)	\$1,500.00		\$1,086.94	Ţ-)0000.0 ·
ADD ALTERNATE - F		OCK HOLLOW ROAD (FOX CHAPEL TO HUNT) (FOX CHAPEL BOROUGH)	614	0000	40.50	\$219,985.35	40.50	\$233,162.02	42.44	\$255,499.86	45.00	\$266,155.00	40.05	\$266,079.61
	F-1	Roadway Milling/Profiling, Variable Depth, as directed	TONG.	9900	\$2.60	\$25,740.00	\$2.50	\$24,750.00	\$2.11	\$20,889.00	\$5.00	\$49,500.00	\$2.35	\$23,265.00
		3/4" Average Depth, Superpave WMA Wearing (Leveling) Course, 9.5		545	\$96.83	\$52,772.35	\$106.00	\$57,770.00	\$119.57	\$65,165.65	\$112.00	\$61,040.00	\$121.96	\$66,468.20
		1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R		9900	\$8.78	\$86,922.00	\$9.00	\$89,100.00	\$10.35	\$102,465.00	\$10.40	\$102,960.00	\$10.31	\$102,069.00
		Base Repair including 10" Unclassified Excavation, Class IV Fabric, Ins		495	\$29.75	\$14,726.25	\$30.00	\$14,850.00	\$45.34	\$22,443.30	\$28.00	\$13,860.00	\$44.85	\$22,200.75
		8	LF	380	\$1.00	\$380.00	\$1.00	\$380.00	\$2.99	\$1,136.20	\$1.00	\$380.00	\$1.65	\$627.00
	F-7		LF	465	\$0.15	\$69.75	\$0.30	\$139.50	\$0.50	\$232.50	\$1.00	\$465.00	\$2.19	\$1,018.35
	F-8		EA	10	\$390.00	\$3,900.00	\$250.00	\$2,500.00	\$376.30	\$3,763.00	\$400.00	\$4,000.00	\$747.73	\$7,477.30
	F-9		EA	8	\$390.00	\$3,120.00	\$260.00	\$2,080.00	\$339.87	\$2,718.96	\$615.00	\$4,920.00	\$354.03	\$2,832.24
	F-10		EA	5	\$100.00	\$500.00	\$75.00	\$375.00	\$38.74	\$193.70	\$75.00	\$375.00	\$78.98	\$394.90
	F-11	.,	EA	1	\$500.00	\$500.00	\$550.00	\$550.00	\$156.26	\$156.26	\$500.00	\$500.00	\$78.98	\$78.98
		Maintenance and Protection of Traffic during Construction as per Pe		1	\$5,000.00	\$5,000.00	\$11,300.00	\$11,300.00	\$6,818.69	\$6,818.69	\$1,800.00	\$1,800.00	\$7,230.91	\$7,230.91
	F-13A	, 0	LF	3420	\$3.50	\$11,970.00	\$3.90	\$13,338.00	\$3.92	\$13,406.40	\$3.50	\$11,970.00	\$4.31	\$14,740.20
	F-13C		LF	6780	\$1.75	\$11,865.00	\$1.95	\$13,221.00	\$1.96	\$13,288.80	\$1.75	\$11,865.00	\$2.15	\$14,577.00
	F-13E		LF	65	\$18.00	\$1,170.00	\$20.06	\$1,303.90	\$20.16	\$1,310.40	\$18.00	\$1,170.00	\$22.14	\$1,439.10
	F-13F	White Lettering or Number Marking (Thermoplastic)	LF	18	\$75.00	\$1,350.00	\$83.59	\$1,504.62	\$84.00	\$1,512.00	\$75.00	\$1,350.00	\$92.26	\$1,660.68
ADD ALTERNATE - F	- F-A6 HEMLO	OCK HOLLOW ROAD (DORSEYVILLE TO OLD MILL) (FOX CHAPEL BOROL	JGH)			\$118,324.70		\$125,359.50		\$133,759.37		\$142,246.00		\$143,071.67
	F-1	Roadway Milling/Profiling, Variable Depth, as directed	SY	5200	\$2.60	\$13,520.00	\$2.50	\$13,000.00	\$2.11	\$10,972.00	\$5.00	\$26,000.00	\$2.35	\$12,220.00
	F-2	3/4" Average Depth, Superpave WMA Wearing (Leveling) Course, 9.5	TONS	290	\$96.83	\$28,080.70	\$106.00	\$30,740.00	\$119.57	\$34,675.30	\$112.00	\$32,480.00	\$121.96	\$35,368.40
1	F-4	1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R	SY	5200	\$8.78	\$45,656.00	\$9.00	\$46,800.00	\$10.35	\$53,820.00	\$10.40	\$54,080.00	\$10.31	\$53,612.00
	F-5A	Base Repair including 10" Unclassified Excavation, Class IV Fabric, Ins	SY	257	\$29.75	\$7,645.75	\$30.00	\$7,710.00	\$45.34	\$11,652.38	\$28.00	\$7,196.00	\$44.85	\$11,526.45
			LF	165	\$1.00	\$165.00	\$1.00	\$165.00	\$2.99	\$493.35	\$1.00	\$165.00	\$1.63	\$268.95
			LF	1615	\$0.15	\$242.25	\$0.30	\$484.50	\$0.50	\$807.50	\$1.00	\$1,615.00	\$2.08	\$3,359.20
i l			EA	7	\$390.00	\$2,730.00	\$250.00	\$1,750.00	\$376.30	\$2,634.10	\$400.00	\$2,800.00	\$747.80	\$5,234.60
	F-9	Adjust Manholes to Grade	EA	4	\$390.00	\$1,560.00	\$260.00	\$1,040.00	\$339.87	\$1,359.48	\$615.00	\$2,460.00	\$354.03	\$1,416.12
i I	F-10	Adjust Valve Boxes to Grade	EA	3	\$100.00	\$300.00	\$75.00	\$225.00	\$38.74	\$116.22	\$75.00	\$225.00	\$78.98	\$236.94
	F-11	Adjust Water Blowoffs to Grade	EA	2	\$500.00	\$1,000.00	\$550.00	\$1,100.00	\$156.26	\$312.52	\$500.00	\$1,000.00	\$78.98	\$157.96
	F-12	Maintenance and Protection of Traffic during Construction as per Pe	LS	1	\$5,000.00	\$5,000.00	\$8,500.00	\$8,500.00	\$3,000.52	\$3,000.52	\$1,800.00	\$1,800.00	\$4,388.15	\$4,388.15
	F-13A	Linestriping - 4" Double Solid Yellow (Thermoplastic)	LF	1790	\$3.50	\$6,265.00	\$3.90	\$6,981.00	\$3.92	\$7,016.80	\$3.50	\$6,265.00	\$4.31	\$7,714.90
	F-13C	Linestriping - 4" Single Solid White (Thermoplastic)	LF	3520	\$1.75	\$6,160.00	\$1.95	\$6,864.00	\$1.96	\$6,899.20	\$1.75	\$6,160.00	\$2.15	\$7,568.00
ADD ALTERNATE - I	- F-A7 FCA UT	TILITY REPAIRS (FOX CHAPEL AUTHORITY)				\$95,076.25		\$92,893.10		\$133,322.46		\$68,670.00		\$162,029.83
			SY	1925	\$10.75	\$20,693,75		40 505 00						
		1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R			\$10.75	\$20,693.75	\$5.00	\$9,625.00	\$3.30	\$6,352.50	\$5.00	\$9,625.00	\$7.62	\$14,668.50
			SY	1925	\$21.75	\$41,868.75	\$5.00 \$14.00	\$9,625.00	\$3.30 \$35.00	\$6,352.50 \$67,375.00	\$5.00 \$10.40	\$9,625.00 \$20,020.00	\$7.62 \$28.75	\$14,668.50 \$55,343.75
		Trench Repair including 6" Unclassified Excavation 6" Depth Superpa		1925 700		Ţ=0/000··· 0								7 - 1,000.00
	F-5B	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa			\$21.75	\$41,868.75	\$14.00	\$26,950.00	\$35.00	\$67,375.00	\$10.40	\$20,020.00	\$28.75	\$55,343.75
	F-5B F-7	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa	SY LF	700	\$21.75 \$35.00	\$41,868.75 \$24,500.00	\$14.00 \$50.00	\$26,950.00 \$35,000.00	\$35.00 \$73.19	\$67,375.00 \$51,233.00	\$10.40 \$50.00	\$20,020.00 \$35,000.00	\$28.75 \$104.93	\$55,343.75 \$73,451.00
	F-5B F-7	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe	SY LF	700	\$21.75 \$35.00 \$0.15	\$41,868.75 \$24,500.00 \$213.75	\$14.00 \$50.00 \$0.30	\$26,950.00 \$35,000.00 \$427.50	\$35.00 \$73.19 \$0.50	\$67,375.00 \$51,233.00 \$712.50	\$10.40 \$50.00 \$1.00	\$20,020.00 \$35,000.00 \$1,425.00	\$28.75 \$104.93 \$2.19	\$55,343.75 \$73,451.00 \$3,120.75
	F-5B F-7 F-12	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne)	SY LF LS	700 1425 1	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00	\$14.00 \$50.00 \$0.30 \$20,000.00	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00	\$35.00 \$73.19 \$0.50 \$3,750.66	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66	\$10.40 \$50.00 \$1.00 \$1,800.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00	\$28.75 \$104.93 \$2.19 \$14,461.83	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83
ADD ALTERNATE - F	F-5B F-7 F-12 F-13B F-13D	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne)	SY LF LS LF	700 1425 1 260	\$21.75 \$35.00 \$0.15 \$7,000.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00	\$14.00 \$50.00 \$0.30 \$20,000.00 \$2.23	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80	\$10.40 \$50.00 \$1.00 \$1,800.00 \$2.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$520.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60
ADD ALTERNATE - F	F-5B F-7 F-12 F-13B F-13D - F-A8 FCB UT	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) ILITY PATCHES (FOX CHAPEL BOROUGH)	SY LF LS LF	700 1425 1 260	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$280.00	\$14.00 \$50.00 \$0.30 \$20,000.00 \$2.23	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$1,330.00	\$10.40 \$50.00 \$1.00 \$1,800.00 \$2.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$520.00 \$280.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40
ADD ALTERNATE - F	F-5B F-7 F-12 F-13B F-13D - F-A8 FCB U1	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Linestriping - 4" Single Solid White (Waterborne) LINTY PATCHS (FOX CHAPEL BOROUGH) Roadway Milling/Profiling, Variable Depth, as directed	SY LF LS LF LF	700 1425 1 260 280	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00 \$1.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$280.00 \$16,872.50	\$14.00 \$50.00 \$0.30 \$20,000.00 \$2.23 \$1.11	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80 \$23,592.00	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88 \$4.75	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$1,330.00 \$21,254.51	\$10.40 \$50.00 \$1.00 \$1,800.00 \$2.00 \$1.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$520.00 \$280.00 \$30,060.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46 \$1.23	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40 \$62,945.13
ADD ALTERNATE - H	F-5B F-7 F-12 F-13B F-13D - F-A8 FCB U1 F-1 F-4	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Souble Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) TILITY PATCHES (FOX CHAPEL BORDUGH) Roadway Milling/Profiling, Variable Depth, as directed 1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R	SY LF LS LF LF SY	700 1425 1 260 280 300	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00 \$1.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$280.00 \$16,872.50 \$3,225.00	\$14.00 \$50.00 \$0.30 \$20,000.00 \$2.23 \$1.11	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80 \$23,592.00 \$1,500.00	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88 \$4.75	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$1,330.00 \$21,254.51 \$990.00	\$10.40 \$50.00 \$1.00 \$1,800.00 \$2.00 \$1.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$520.00 \$280.00 \$30,060.00 \$3,000.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46 \$1.23	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40 \$62,945.13 \$5,577.00
ADD ALTERNATE - I	F-5B F-7 F-12 F-13B F-13D - F-A8 FCB UT F-1 F-4 F-5B	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Solid White (Waterborne) TILITY PATCHES (FOX CHAPEL BOROUGH) Roadway Milling/Profiling, Variable Depth, as directed 1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R Trench Repair including 6" Unclassified Excavation 6" Depth Superpa	SY LF LS LF LF SY	700 1425 1 260 280 300 300	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00 \$1.00 \$10.75 \$21.75	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$280.00 \$16,872.50 \$3,225.00 \$6,525.00	\$14.00 \$50.00 \$0.30 \$20,000.00 \$2.23 \$1.11 \$5.00 \$14.00	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80 \$23,592.00 \$1,500.00	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88 \$4.75 \$3.30 \$35.00	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$1,330.00 \$21,254.51 \$990.00	\$10.40 \$50.00 \$1.00 \$1,800.00 \$2.00 \$1.00 \$10.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$520.00 \$280.00 \$30,060.00 \$3,000.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46 \$1.23 \$18.59 \$52.06	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40 \$62,945.13 \$5,577.00 \$15,618.00
ADD ALTERNATE - I	F-5B F-7 F-12 F-13B F-13D - F-A8 FCB U1 F-1 F-4 F-5B	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Linestriping - 4" Single Solid White (Waterborne) LILITY PATCHES (FOX CHAPEL BOROUGH) Roadway Milling/Profiling, Variable Depth, as directed 1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb	SY LF LS LF LF SY SY LF LF	700 1425 1 260 280 300 300 115	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00 \$1.00 \$11.05 \$21.75 \$21.75 \$35.00 \$0.15	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$280.00 \$16,872.50 \$3,225.00 \$6,525.00 \$4,025.00 \$37.50	\$14.00 \$50.00 \$0.30 \$20,000.00 \$2.23 \$1.11 \$5.00 \$14.00 \$50.00	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80 \$23,592.00 \$1,500.00 \$4,200.00 \$5,750.00	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88 \$4.75 \$3.30 \$35.00 \$73.19 \$0.50	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$1,330.00 \$21,254.51 \$990.00 \$10,500.00 \$8,416.85 \$125.00	\$10.40 \$50.00 \$1.00 \$1,800.00 \$2.00 \$1.00 \$1.00 \$10.00 \$20.00 \$150.00 \$50.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$520.00 \$280.00 \$30,060.00 \$6,000.00 \$17,250.00 \$1,250.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46 \$1.23 \$18.59 \$52.06 \$18.435 \$2.03	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40 \$62,945.13 \$5,577.00 \$15,618.00 \$21,200.25 \$507.50
ADD ALTERNATE - I	F-5B F-7 F-12 F-13B F-13D - F-A8 FCB UT F-1 F-4 F-5B F-7 F-12	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) TILITY PATCHES (FOX CHAPEL BOROUGH) Roadway Milling/Profiling, Variable Depth, as directed 1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe	SY LF LS LF LF SY SY LF LF	700 1425 1 260 280 300 300 115 250	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00 \$1.00 \$10.75 \$21.75 \$35.00 \$0.15 \$3,000.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$280.00 \$16,872.50 \$3,225.00 \$4,025.00 \$437.50 \$337.50	\$14.00 \$50.00 \$0.30 \$2,000.00 \$2.23 \$1.11 \$5.00 \$14.00 \$50.00 \$0.30 \$12,000.00	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80 \$23,592.00 \$4,200.00 \$5,750.00 \$75.00 \$12,000.00	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88 \$4.75 \$3.30 \$35.00 \$73.19 \$0.50 \$937.66	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$1,330.00 \$21,254.51 \$990.00 \$10,500.00 \$8,416.85 \$125.00 \$937.66	\$10.40 \$50.00 \$1.00 \$1,800.00 \$2.00 \$1.00 \$10.00 \$20.00 \$150.00 \$5.00 \$2,500.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$220.00 \$280.00 \$30,060.00 \$3,000.00 \$6,000.00 \$17,250.00 \$1,250.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46 \$1.23 \$18.59 \$52.06 \$18.435 \$2.03 \$19,968.58	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40 \$62,945.13 \$5,577.00 \$15,618.00 \$21,200.25 \$507.50
ADD ALTERNATE - I	F-5B F-7 F-12 F-13B F-13D - F-A8 FCB UT F-1 F-4 F-5B F-7 F-12 F-13B	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) **TILITY PATCHES (FOX CHAPEL BOROUGH) **Roadway Milling/Profiling, Variable Depth, as directed 1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R **Trench Repair including 6" Unclassified Excavation 6" Depth Superpa **Bituminous Wedge Curb **Maintenance and Protection of Traffic during Construction as per Pe **Linestriping - 4" Double Solid Yellow (Waterborne)	SY LF LS LF LF SY SY SY LF LS	700 1425 1 260 280 300 300 115	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00 \$1.00 \$10.75 \$21.75 \$35.00 \$0.15 \$3,000.00 \$2.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$280.00 \$16,872.50 \$6,525.00 \$4,025.00 \$37.50 \$3,000.00 \$40.00	\$14.00 \$50.00 \$0.30 \$20,000.00 \$2.23 \$1.11 \$5.00 \$14.00 \$50.00 \$0.30 \$12,000.00 \$2.23	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80 \$23,592.00 \$1,500.00 \$4,200.00 \$5,750.00 \$75.00 \$12,000.00	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88 \$4.75 \$3.30 \$35.00 \$73.19 \$0.50 \$937.66 \$9.50	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$1,330.00 \$21,254.51 \$990.00 \$10,500.00 \$8,416.85 \$125.00 \$937.66 \$190.00	\$10.40 \$50.00 \$1.00 \$1,800.00 \$2.00 \$1.00 \$20.00 \$25.00 \$25.00 \$25.00 \$5.00 \$5.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$520.00 \$30,000.00 \$3,000.00 \$6,000.00 \$17,250.00 \$1,250.00 \$2,2500.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46 \$1.23 \$18.59 \$52.06 \$184.35 \$2.03 \$19,968.58	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40 \$62,945.13 \$5,577.00 \$15,618.00 \$21,200.25 \$507.50 \$19,968.58
	F-58 F-7 F-12 F-13B F-13D F-A8 FCB U1 F-1 F-4 F-5B F-7 F-12 F-13B F-13D	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Linestriping - 6" Single Solid White (Waterborne) Linestriping - 6" Single Solid White (Waterborne) Roadway Milling/Profiling, Variable Depth, as directed 1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne)	SY LF LS LF LF SY SY SY LF	700 1425 1 260 280 300 300 115 250 1	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00 \$1.00 \$10.75 \$21.75 \$35.00 \$0.15 \$3,000.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$280.00 \$16,872.50 \$3,225.00 \$6,525.00 \$3,000.00 \$3,000.00 \$40,000 \$40	\$14.00 \$50.00 \$0.30 \$2,000.00 \$2.23 \$1.11 \$5.00 \$14.00 \$50.00 \$0.30 \$12,000.00	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80 \$1,500.00 \$4,200.00 \$75.00 \$12,000.00 \$44.60 \$22.40	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88 \$4.75 \$3.30 \$35.00 \$73.19 \$0.50 \$937.66	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$1,330.00 \$21,254.51 \$990.00 \$10,500.00 \$8,416.85 \$125.00 \$937.66 \$190.00 \$95.00	\$10.40 \$50.00 \$1.00 \$1,800.00 \$2.00 \$1.00 \$10.00 \$20.00 \$150.00 \$5.00 \$2,500.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$280.00 \$280.00 \$30,060.00 \$3,000.00 \$17,250.00 \$1,250.00 \$2,500.00 \$40.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46 \$1.23 \$18.59 \$52.06 \$18.435 \$2.03 \$19,968.58	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40 \$62,945.13 \$5,577.00 \$15,618.00 \$21,202.55 \$507.50 \$19,968.58 \$49,20 \$24,602
	F-58 F-7 F-12 F-13B F-13D - F-A8 FCB UI F-1 F-4 F-5B F-7 F-12 F-13B F-13D O-A1 - BOYD	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) TILITY PATCHES (FOX CHAPEL BOROUGH) Roadway Milling/Profiling, Variable Depth, as directed 1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) AVENUE (O'HARA TOWNSHIP)	SY LF LS LF LF SY SY SY LF	700 1425 1 260 280 300 300 115 250 1 20	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00 \$1.00 \$10.75 \$21.75 \$35.00 \$0.15 \$3,000.00 \$2.00 \$1.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$288.00 \$16,872.50 \$3,225.00 \$4,025.00 \$3,000.00 \$40.00 \$40.00 \$20.00	\$14.00 \$50.00 \$0.30 \$20,000.00 \$2.23 \$1.11 \$5.00 \$14.00 \$50.00 \$0.30 \$12,000.00 \$2.23 \$1.12	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80 \$23,592.00 \$1,500.00 \$5,750.00 \$75.00 \$12,000.00 \$44.60 \$22.40 \$48,919.00	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88 \$4.75 \$33.00 \$73.19 \$0.50 \$937.66 \$9.50 \$4.75	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$13,330.00 \$21,254.51 \$990.00 \$8,416.85 \$125.00 \$937.66 \$199.00 \$937.66	\$10.40 \$50.00 \$1.00 \$1,800.00 \$1.00 \$1.00 \$10.00 \$20.00 \$150.00 \$2,500.00 \$2,500.00 \$2,500.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$220.00 \$30,060.00 \$3,000.00 \$6,000.00 \$17,250.00 \$1,250.00 \$40.00 \$20.00 \$60,409.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46 \$11.23 \$18.59 \$52.06 \$184.35 \$2.46 \$1.23	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40 \$62,945.13 \$5,577.00 \$15,618.00 \$21,200.25 \$507.50 \$49,20 \$24,60 \$24,60 \$24,50 \$65,545.88
	F-5B F-7 F-12 F-13B F-13D - F-A8 FCB UT F-1 F-4 F-5B F-7 F-12 F-13B F-13D O-A1 - BOYD	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Linestriping - 4" Single Solid White (Waterborne) HILTY PATCHES (FOX CHAPEL BOROUGH) Roadway Milling/Profiling, Variable Depth, as directed 1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R Teroch Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Single Solid White (Waterborne) Linestriping - 4" Single Solid White (Waterborne) AVENUE (O'HARA TOWNSHIP) Roadway Milling / Profiling, Variable Depth	SY LF LS LF LF SY SY LF LF LF LF LF LF SY SY SY LF LS LF LS SY	700 1425 1 260 280 300 300 115 250 1 20 20	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00 \$1.00 \$10.75 \$21.75 \$35.00 \$0.15 \$3,000.00 \$2.00 \$1.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$280.00 \$16,872.50 \$3,225.00 \$4,025.00 \$37.50 \$3,000.00 \$20.00 \$44,000 \$20.00 \$4,055.00 \$4,055.00 \$4,055.00 \$4,055.00 \$4,055.00 \$4,055.00	\$14.00 \$50.00 \$0.30 \$20,000.00 \$2.23 \$1.11 \$5.00 \$14.00 \$50.00 \$0.30 \$12,000.00 \$2.23 \$1.12	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80 \$23,592.00 \$4,200.00 \$75.00 \$12,000.00 \$44.60 \$22.40 \$48,919.00 \$33,750.00	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88 \$4.75 \$3.30 \$35.00 \$73.19 \$0.50 \$937.66 \$9.50 \$4.75	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$13,300 \$21,254.51 \$990.00 \$3,416.85 \$125.00 \$937.66 \$190.00 \$937.66 \$190.00 \$95.00 \$95.00 \$4,125.00	\$10.40 \$50.00 \$1.00 \$1,800.00 \$2.00 \$1.00 \$20.00 \$25.00 \$25.00 \$5.00 \$2,500.00 \$2,500.00 \$2,500.00 \$2,800.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$520.00 \$30,000.00 \$3,000.00 \$6,000.00 \$17,250.00 \$2,500.00 \$40.00 \$20.00 \$60,409.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46 \$1.23 \$18.59 \$52.06 \$184.35 \$2.03 \$19,968.58 \$2.23 \$4.80	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40 \$62,945.13 \$5,577.00 \$15,618.00 \$21,200.25 \$507.50 \$49.20 \$24,60 \$49.20 \$67,545.68 \$7,200.00
	F-5B F-7 F-12 F-13B F-13D - F-A8 FCB U1 F-1 F-4 F-5B F-7 F-12 F-13B F-13B F-13B G-A1 - BOYD O-A1 - BOYD	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Single Solid Vellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Hill Part Self Self Self Self Self Self Self Self	SY LF LS LF LF SY SY LF LF LF LF LF SY SY LF LS LF LF LF LS LF LF LS LF LF LS LF LF LF LS LF LF LF	700 1425 1 260 280 300 300 115 250 1 20 20 1500 230	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00 \$1.00 \$10.75 \$21.75 \$35.00 \$0.15 \$3,000.00 \$2.00 \$1.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$280.00 \$16,872.50 \$3,225.00 \$6,525.00 \$3,000.00 \$40,025.00 \$40,025.00 \$40,005.00 \$40,005.00 \$40,005.00 \$40,005.00 \$40,005.00 \$40,005.00	\$14.00 \$50.00 \$0.30 \$20,000.00 \$2.23 \$1.11 \$5.00 \$14.00 \$50.00 \$0.30 \$12,000.00 \$2.23 \$1.12	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80 \$31,500.00 \$4,200.00 \$75.00 \$75.00 \$44.60 \$22.40 \$48,919.00 \$3,750.00 \$3,750.00 \$21,850.00 \$21,850.00	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88 \$4.75 \$3.30 \$35.00 \$73.19 \$0.50 \$937.66 \$9.50 \$4.75	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$1,330.00 \$10,500.00 \$10,500.00 \$8,416.85 \$125.00 \$937.66 \$1990.00 \$95.00 \$95.00 \$95.00 \$95.00 \$4,125.00 \$4,125.00 \$26,401.70	\$10.40 \$50.00 \$1,800.00 \$1,800.00 \$2,00 \$1,00 \$10.00 \$20.00 \$150.00 \$2,500.00 \$2,500.00 \$2,00 \$1.00 \$2,00 \$1.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$280.00 \$30,060.00 \$3,000.00 \$17,250.00 \$17,250.00 \$40.00 \$22,000 \$22,000 \$12,000.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46 \$1.23 \$18.59 \$52.06 \$184.35 \$2.03 \$19,968.58 \$2.26 \$1.23	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40 \$62,945.13 \$5,577.00 \$15,618.00 \$21,202.25 \$507.50 \$19,968.85 \$49.20 \$24,60 \$24,60 \$27,200.00 \$27,200.00 \$27,200.00 \$27,200.00 \$27,200.00 \$27,200.00
	F-5B F-7 F-12 F-13B F-13D F-28 FCB U1 F-4 F-5B F-7 F-12 F-13B F-13D O-A1 - BOYD O-1A O-2A O-3A	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Maintenance (Sol Chapel Borough) Roadway Milling/Profiling, Variable Depth, as directed 1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) AVENUE (O'HARA TOWNSHIP) Roadway Milling / Profiling, Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth. Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth. Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth. Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth. Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth. Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth. Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth. Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth. Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth. Superpave WMA Wearing Course with FORTA-FI Fiber Reviews 1.5" Depth. Superpave WMA Wearing Course with FORTA-FI	SY LF LS LF LF LF LF LF SY SY SY TONS	700 1425 1 260 280 300 300 115 250 1 20 20 230 1500	\$21.75 \$35.00 \$0.15 \$7,000.00 \$1.00 \$10.75 \$21.75 \$35.00 \$0.15 \$3,000.00 \$2.00 \$1.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$16,872.50 \$3,225.00 \$4,025.00 \$40.00	\$14.00 \$50.00 \$0.30 \$20,000.00 \$2.23 \$1.11 \$5.00 \$14.00 \$50.00 \$0.30 \$12,000.00 \$2.23 \$1.12	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80 \$23,592.00 \$1,500.00 \$5,750.00 \$75.00 \$12,000.00 \$44,60 \$22.40 \$48,919.00 \$3,750.00 \$33,750.00 \$13,850.00 \$11,850.00	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88 \$4.475 \$33.00 \$73.19 \$0.50 \$937.66 \$9.50 \$4.75 \$2.75 \$114.79 \$10.35	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$13,330.00 \$21,254.51 \$990.00 \$8,416.85 \$125.00 \$937.66 \$190.00 \$95.00 \$4,125.00 \$4,125.00 \$4,125.00 \$4,125.00 \$15,525.00	\$10.40 \$50.00 \$1.00 \$1,800.00 \$1,800.00 \$1.00 \$10.00 \$20.00 \$150.00 \$2,500.00 \$2,500.00 \$2,500.00 \$1.00 \$1.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$220.00 \$30,060.00 \$3,000.00 \$17,250.00 \$1,7250.00 \$40.00 \$22.00 \$60,409.00 \$12,000.00 \$12,000.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46 \$11.23 \$18.59 \$52.06 \$184.35 \$2.06 \$19,968.58 \$2.46 \$1.23	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40 \$62,945.13 \$5,577.00 \$21,200.25 \$507.50 \$19,968.58 \$49.20 \$24,60 \$7,545.68 \$7,200.00 \$27,496.50
	F-5B F-7 F-12 F-13B F-13D F-13D F-13D F-13D F-4 F-4 F-5 F-7 F-12 F-13B F-13B F-13B F-13B O-2A O-3A O-3A	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Roadway Milling/Profiling, Variable Depth, as directed 1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Songle Solid Vellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) AVENUE (O'HARA TOWNSHIP) Roadway Milling / Profiling, Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R 15" Depth, Superpave WMA Wararing Course with FORTA-FI Fiber R Base Repair including 10" Unclassified Excavation, Class V Fabric, Ins	SY LF LS LS LF LF SY SY SY LF LF LS SY	700 1425 1 1 260 280 300 300 115 250 1 1 20 20 1500 1500 1500	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00 \$1.00 \$10.75 \$21.75 \$35.00 \$0.15 \$3,000.00 \$2.00 \$1.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$16,872.50 \$3,225.00 \$4,025.00 \$37.50 \$3,000.00 \$40,00	\$14.00 \$50.00 \$0.30 \$20,000.00 \$2.23 \$1.11 \$5.00 \$14.00 \$50.00 \$12,000.00 \$2.23 \$1.12 \$2.50 \$95.00 \$9.00	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80 \$23,592.00 \$1,500.00 \$75.00 \$12,000.00 \$44.60 \$22.40 \$48,919.00 \$3,750.00 \$21,850.00 \$12,850.00 \$41,850.00	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88 \$4.75 \$3.30 \$35.00 \$73.19 \$0.50 \$937.66 \$9.50 \$4.75 \$114.79 \$10.35 \$45.34	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$13,300.00 \$10,500.00 \$10,500.00 \$8,416.85 \$125.00 \$93.76 \$199.00 \$95.00 \$4,125.00 \$4,125.00 \$1,000.	\$10.40 \$50.00 \$1.00 \$1,800.00 \$2.00 \$1.00 \$20.00 \$25.00 \$25.00 \$2,500.00 \$2,500.00 \$2,500.00 \$150.00 \$150.00 \$150.00 \$2,000 \$150.00 \$2,000 \$150.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$520.00 \$30,060.00 \$3,000.00 \$6,000.00 \$17,250.00 \$1,250.00 \$40.00 \$22,500.00 \$40.00 \$12,000.00 \$12,000.00 \$12,000.00 \$12,000.00 \$14,000.00 \$16,050.00 \$44,500.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46 \$1.23 \$18.59 \$52.06 \$184.35 \$2.03 \$19,968.58 \$2.23 \$4.80 \$119.55 \$1.23	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40 \$62,945.13 \$5,577.00 \$15,618.00 \$21,200.25 \$507.50 \$49.20 \$24,60 \$7,545.68 \$7,200.00 \$27,496.50 \$18,240.00 \$67,745.68
	F-5B F-7 F-12 F-13B F-13D F-13D F-3D F-74 F-5 F-7 F-12 F-13B F-13B F-13B F-13B G-31 - BOYD O-31 - BOYD O-3A O-3A O-4A	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Single Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Hill Part Self Self Self Self Self Self Self Self	SY LF LS LS LF LF LF SY SY SY TONS SY SY SY SY SY SY SY SY SY TONS SY SY	700 1425 1 260 280 300 300 115 250 1 20 20 21 1500 230 1500 1500 20 20	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00 \$1.00 \$10.75 \$21.75 \$35.00 \$0.15 \$3,000.00 \$2.00 \$1.00 \$2.00 \$1.00 \$2.00 \$1.00 \$2.00 \$2.00 \$3,000.00 \$2.00 \$2.00 \$2.00 \$2.00 \$3,000.00 \$2.00 \$2.00 \$2.00 \$2.00 \$3,000.00 \$2.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$280.00 \$16,872.50 \$3,225.00 \$4,025.00 \$37.50 \$3,000.00 \$44,005.00 \$4,065.00 \$4,065.00 \$19,614.40 \$13,860.00 \$4,462.50 \$900.00	\$14.00 \$50.00 \$0.30 \$20,000.00 \$2.23 \$1.11 \$5.00 \$14.00 \$50.00 \$0.30 \$12,000.00 \$2.23 \$1.12 \$2.50 \$95.00 \$9.00 \$	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80 \$2,579.80 \$1,500.00 \$4,200.00 \$75,00 \$12,000.00 \$44.60 \$22,46 \$3,750.00 \$3,750.00 \$3,750.00 \$3,750.00 \$3,750.00 \$3,750.00 \$3,750.00 \$3,750.00 \$3,750.00 \$3,750.00 \$3,750.00 \$3,750.00 \$3,750.00 \$4,500.00 \$4,500.00	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88 \$4.75 \$3.30 \$35.00 \$73.19 \$0.50 \$9.50 \$4.75 \$114.79 \$10.35 \$45.34 \$73.19	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$13,330.00 \$10,500.00 \$10,500.00 \$8,416.85 \$125.00 \$937.66 \$190.00 \$4,125.00 \$4,125.00 \$4,125.00 \$15,525.00 \$6,801.00 \$15,525.00	\$10.40 \$50.00 \$1.80 \$1,800.00 \$2.00 \$15.00 \$20.00 \$150.00 \$55.00 \$2.00 \$150.00 \$150.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$280.00 \$30,060.00 \$3,000.00 \$17,250.00 \$17,250.00 \$40.00 \$22,000 \$12,000.00 \$12,000.00 \$12,000.00 \$12,000.00 \$13,000.00 \$14,000.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46 \$1.23 \$18.59 \$52.06 \$184.35 \$2.03 \$19,968.58 \$2.46 \$1.23 \$119,55 \$12.16 \$4.80 \$119.55 \$12.16	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40 \$62,945.13 \$5,577.00 \$15,618.00 \$21,200.25 \$507.50 \$19,668.78 \$49.20 \$24.60 \$7,200.00 \$27,496.50 \$18,240.00 \$6,724.50 \$6,724.50 \$6,724.50 \$6,724.50 \$6,724.50 \$6,724.50 \$6,724.50 \$6,724.50 \$6,724.50
	F-5B F-7 F-12 F-13B F-13D F-13D F-13D F-13D F-4 F-4 F-5 F-7 F-12 F-13B F-13B F-13B F-13B O-2A O-3A O-3A	Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Double Solid Yellow (Waterborne) Linestriping - 4" Single Solid White (Waterborne) Hiller Parkets (FOX CHAPEL BORDUGH) Roadway Milling/Profiling, Variable Depth, as directed 1.5" Depth, Superpave WMA Wearing Course, with FORTA-FI Fiber R Trench Repair including 6" Unclassified Excavation 6" Depth Superpa Bituminous Wedge Curb Maintenance and Protection of Traffic during Construction as per Pe Linestriping - 4" Single Solid White (Waterborne) Linestriping - 4" Single Solid White (Waterborne) AVENUE (O'HARA TOWNSHIP) Roadway Milling, Profiling, Variable Depth Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber 1.5" Depth, Superpave WMA Binder Course with FORTA-FI Fiber R Base Repair including 10" Unclassified Excavation, Class IV Fabric, Ins Trench Repair including 6" Unclassified Excavation 6" Depth Superpa 3" Minimum Width Keyway Milling	SY LF LS LS LF LF SY SY SY LF LF LS SY	700 1425 1 1 260 280 300 300 115 250 1 1 20 20 1500 1500 1500	\$21.75 \$35.00 \$0.15 \$7,000.00 \$2.00 \$1.00 \$10.75 \$21.75 \$35.00 \$0.15 \$3,000.00 \$2.00 \$1.00	\$41,868.75 \$24,500.00 \$213.75 \$7,000.00 \$520.00 \$16,872.50 \$3,225.00 \$4,025.00 \$37.50 \$3,000.00 \$40,00	\$14.00 \$50.00 \$0.30 \$20,000.00 \$2.23 \$1.11 \$5.00 \$14.00 \$50.00 \$12,000.00 \$2.23 \$1.12 \$2.50 \$95.00 \$9.00	\$26,950.00 \$35,000.00 \$427.50 \$20,000.00 \$579.80 \$310.80 \$23,592.00 \$1,500.00 \$75.00 \$12,000.00 \$44.60 \$22.40 \$48,919.00 \$3,750.00 \$21,850.00 \$12,850.00 \$41,850.00	\$35.00 \$73.19 \$0.50 \$3,750.66 \$9.88 \$4.75 \$3.30 \$35.00 \$73.19 \$0.50 \$937.66 \$9.50 \$4.75 \$114.79 \$10.35 \$45.34	\$67,375.00 \$51,233.00 \$712.50 \$3,750.66 \$2,568.80 \$13,300.00 \$10,500.00 \$10,500.00 \$8,416.85 \$125.00 \$93.76 \$199.00 \$95.00 \$4,125.00 \$4,125.00 \$1,000.	\$10.40 \$50.00 \$1.00 \$1,800.00 \$2.00 \$1.00 \$20.00 \$25.00 \$25.00 \$2,500.00 \$2,500.00 \$2,500.00 \$150.00 \$150.00 \$150.00 \$2,000 \$150.00 \$2,000 \$150.00	\$20,020.00 \$35,000.00 \$1,425.00 \$1,800.00 \$520.00 \$30,060.00 \$3,000.00 \$6,000.00 \$17,250.00 \$1,250.00 \$40.00 \$22,500.00 \$40.00 \$12,000.00 \$12,000.00 \$12,000.00 \$12,000.00 \$14,000.00 \$16,050.00 \$44,500.00	\$28.75 \$104.93 \$2.19 \$14,461.83 \$2.46 \$1.23 \$18.59 \$52.06 \$184.35 \$2.03 \$19,968.58 \$2.23 \$4.80 \$119.55 \$1.23	\$55,343.75 \$73,451.00 \$3,120.75 \$14,461.83 \$639.60 \$344.40 \$62,945.13 \$5,577.00 \$21,200.25 \$507.50 \$24,60 \$24,60 \$24,60 \$27,496.50 \$27,496.50 \$18,240.00 \$67,745.68

O-8D Linestriping - 4" Double Solid Yellow (Thermoplastic)	I F	560	\$3.50	\$1,960.00	\$3.90	\$2,184.00	\$13.93	\$7,800.80	\$3.50	\$1,960.00	\$4.31	\$2,413.60
ADD ALTERNATE - O-A2 - RIVER ROAD-O (O'HARA TOWNSHIP)		500	Ş3.30	\$168,604.30	\$3.30	\$172,724.00	Ų13.33	\$210,822.82	\$5.50	\$215,973.00	Ş1.51	\$241,203.67
O-1A Roadway Milling / Profiling, Variable Depth	SY	5600	\$2.71	\$15,176.00	\$2.50	\$14,000.00	\$2.75	\$15,400.00	\$8.00	\$44,800.00	\$4.71	\$26,376.00
O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber	TONS	835	\$85.28	\$71,208.80	\$95.00	\$79,325.00	\$114.79	\$95,849.65	\$100.00	\$83,500.00	\$119.55	\$99,824.25
O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R		5600	\$9.24	\$51,744.00	\$9.00	\$50,400.00	\$10.35	\$57,960.00	\$10.70	\$59,920.00	\$12.16	\$68,096.00
O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In:		560	\$29.75	\$16,660.00	\$30.00	\$16,800.00	\$45.34	\$25,390.40	\$30.00	\$16,800.00	\$44.84	\$25,110.40
O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpa	SY	20	\$45.00	\$900.00	\$45.00	\$900.00	\$73.19	\$1,463.80	\$50.00	\$1,000.00	\$71.75	\$1,435.00
O-5 3' Minimum Width Keyway Milling	LF	163 1375	\$1.00	\$163.00	\$1.00	\$163.00	\$2.99	\$487.37	\$1.00	\$163.00 \$1,925.00	\$1.64	\$267.32
O-6 Restoration of Lawn Areas (3' Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Pe	LF	13/5	\$1.30 \$4,000.00	\$1,787.50 \$4,000.00	\$1.00 \$2,000.00	\$1,375.00 \$2,000.00	\$1.40 \$4,545.80	\$1,925.00 \$4,545.80	\$1.40 \$900.00	\$1,925.00	\$2.95 \$7,461.55	\$4,056.25 \$7,461.55
O-8D Linestriping - 4" Double Solid Yellow (Thermoplastic)	IF.	1990	\$3.50	\$6,965.00	\$3.90	\$7,761.00	\$3.92	\$7,800.80	\$3.50	\$6,965.00	\$4.31	\$8,576.90
ADD ALTERNATE - O-A3 - RIVER ROAD-M (MIRAMAR LANDINGS)		1550	\$3.30	\$169,690.20	93.30	\$151,593.65	75.52	\$164,930.61	\$3.30	\$155,097.00	Ş4.51	\$194,792.04
O-1B Removal and Off-Site Disposal of Existing Roadway and Subbase	SY	2270	\$18.10	\$41,087.00	\$10.00	\$22,700.00	\$11.30	\$25,651.00	\$8.00	\$18,160.00	\$18.77	\$42,607.90
O-1C 8" Limestone Subbase including Preparation of Subgrade and Install	SY	2270	\$21.00	\$47,670.00	\$19.00	\$43,130.00	\$19.32	\$43,856.40	\$22.00	\$49,940.00	\$19.87	\$45,104.90
O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber		530	\$85.28	\$45,198.40	\$95.00	\$50,350.00	\$114.79	\$60,838.70	\$100.00	\$53,000.00	\$122.46	\$64,903.80
O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R		2270	\$9.24	\$20,974.80	\$9.00	\$20,430.00	\$10.35	\$23,494.50	\$10.70	\$24,289.00	\$11.78	\$26,740.60
O-6 Restoration of Lawn Areas (3' Average Width)	LF	1480	\$1.30	\$1,924.00	\$1.00	\$1,480.00	\$1.50	\$2,220.00	\$1.40	\$2,072.00	\$2.95	\$4,366.00
O-7 Maintenance and Protection of Traffic during Construction as per Pe		1	\$7,000.00	\$7,000.00	\$7,000.00	\$7,000.00	\$2,333.69	\$2,333.69	\$1,800.00	\$1,800.00	\$3,886.48	\$3,886.48
O-8A Linestriping - ADA Accessible Parking Symbol (Thermoplastic)	EA	1	\$500.00	\$500.00	\$557.27	\$557.27	\$560.00	\$560.00	\$500.00	\$500.00	\$615.07	\$615.07
O-8B Linestriping - 4" Single Solid Blue (Thermoplastic)	LF	126	\$7.75	\$976.50	\$8.64	\$1,088.64	\$8.68	\$1,093.68	\$7.75	\$976.50	\$9.53	\$1,200.78
O-8C Linestriping - 4" Single Solid or Dashed White (Thermoplastic)	LF	60	\$6.50	\$390.00	\$7.24	\$434.40	\$7.28	\$436.80	\$6.50	\$390.00	\$8.00	\$480.00
O-8D Linestriping - 4" Double Solid Yellow (Thermoplastic) O-8G Linestriping - Type C Perpendicular Crosswalk (Thermoplastic)	LF	805 64	\$3.50 \$18.00	\$2,817.50 \$1,152.00	\$3.90 \$20.06	\$3,139.50 \$1,283.84	\$3.92 \$20.16	\$3,155.60 \$1,290.24	\$3.50 \$18.00	\$2,817.50 \$1,152.00	\$4.31 \$22.14	\$3,469.55 \$1,416.96
O-8G Linestriping - Type C Perpendicular Crosswalk (Thermoplastic) ADD ALTERNATE - O-A4 -GREYFRIAR DRIVE (O'HARA TOWNSHIP)	LF	ъ4	\$18.00	\$1,152.00	\$20.06	\$1,283.84	\$20.16	\$1,290.24	\$18.00	\$1,152.00	\$22.14	\$1,416.96
O-1A Roadway Milling / Profiling, Variable Depth	SY	3500	\$2.71	\$98,938.40	\$2.50	\$8,750.00	\$2.75	\$122,293.62	\$8.00	\$129,210.00	\$4.71	\$141,202.99
O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber	TONS	530	\$85.28	\$45,198.40	\$95.00	\$50,350.00	\$114.79	\$60,838.70	\$100.00	\$53,000.00	\$122.46	\$64,903.80
O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R		3500	\$9.24	\$32,340.00	\$9.00	\$31,500.00	\$10.35	\$36,225.00	\$10.70	\$37,450.00	\$11.78	\$41,230.00
O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, Inc.		180	\$29.75	\$5,355.00	\$30.00	\$5,400.00	\$45.34	\$8,161.20	\$30.00	\$5,400.00	\$44.84	\$8,071.20
O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpa		20	\$45.00	\$900.00	\$45.00	\$900.00	\$73.19	\$1,463.80	\$50.00	\$1,000.00	\$71.75	\$1,435.00
O-5 3' Minimum Width Keyway Milling	LF	60	\$1.00	\$60.00	\$1.00	\$60.00	\$2.99	\$179.40	\$1.00	\$60.00	\$2.80	\$168.00
O-6 Restoration of Lawn Areas (3' Average Width)	LF	2000	\$1.30	\$2,600.00	\$1.00	\$2,000.00	\$1.40	\$2,800.00	\$1.40	\$2,800.00	\$2.95	\$5,900.00
O-7 Maintenance and Protection of Traffic during Construction as per Pe	LS	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.52	\$3,000.52	\$1,500.00	\$1,500.00	\$3,009.99	\$3,009.99
ADD ALTERNATE - O-A5 -KIRKWALL DRIVE (O'HARA TOWNSHIP)				\$43,325.90		\$43,730.00		\$51,300.93		\$54,852.00		\$59,374.87
O-1A Roadway Milling / Profiling, Variable Depth	SY	1400	\$2.71	\$3,794.00	\$2.50	\$3,500.00	\$2.75	\$3,850.00	\$8.00	\$11,200.00	\$4.71	\$6,594.00
O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber		230	\$85.28	\$19,614.40	\$95.00	\$21,850.00	\$114.79	\$26,401.70	\$100.00	\$23,000.00	\$122.47	\$28,168.10
O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In:		1400 70	\$9.24 \$29.75	\$12,936.00 \$2,082.50	\$9.00 \$30.00	\$12,600.00 \$2,100.00	\$10.35 \$45.34	\$14,490.00 \$3,173.80	\$10.70 \$30.00	\$14,980.00 \$2,100.00	\$11.78 \$44.83	\$16,492.00 \$3,138.10
O-48 Trench Repair including 6" Unclassified Excavation, class iv Patric, in:		20	\$45.00	\$900.00	\$45.00	\$900.00	\$73.19	\$1,463.80	\$50.00	\$1,000.00	\$71.75	\$1,435.00
O-5 3' Minimum Width Keyway Milling	I F	50	\$1.00	\$50.00	\$1.00	\$50.00	\$2.99	\$1,403.80	\$1.00	\$50.00	\$2.80	\$140.00
O-6 Restoration of Lawn Areas (3' Average Width)	LE	730						\$1,022.00				
			S1.30 I	5949.00	51.00	5730.00			51.40	\$1.022.00	\$2.95	\$2,153,50
O-7 Maintenance and Protection of Traffic during Construction as per Pe	LS	730	\$1.30 \$3,000.00	\$949.00 \$3,000.00	\$1.00 \$2,000.00	\$730.00 \$2,000.00	\$1.40 \$750.13	\$750.13	\$1.40 \$1,500.00	\$1,022.00 \$1,500.00	\$2.95 \$1,254.17	\$2,153.50 \$1,254.17
O-7 Maintenance and Protection of Traffic during Construction as per Pe ADD ALTERNATE - O-A6 -KERWOOD ROAD (O'HARA TOWNSHIP)	LS	1										
O-7 Maintenance and Protection of Traffic during Construction as per Pe ADD ALTERNATE - O-A6-KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth	LS	1 1550		\$3,000.00		\$2,000.00	\$750.13 \$2.75	\$750.13	\$1,500.00 \$8.00	\$1,500.00	\$1,254.17 \$4.71	\$1,254.17
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber	SY TONS	1 1550 240	\$3,000.00 \$2.71 \$85.28	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20	\$2,000.00 \$2.50 \$95.00	\$2,000.00 \$47,565.00 \$3,875.00 \$22,800.00	\$750.13 \$2.75 \$114.79	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60	\$1,500.00 \$8.00 \$100.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00	\$1,254.17 \$4.71 \$122.46	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40
ADD ALTERNATE - O-A6 -KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R	SY TONS SY	1 1550 240 1550	\$3,000.00 \$2.71 \$85.28 \$9.24	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00	\$2,000.00 \$2.50 \$95.00 \$9.00	\$2,000.00 \$47,565.00 \$3,875.00 \$22,800.00 \$13,950.00	\$750.13 \$2.75 \$114.79 \$10.35	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50	\$1,500.00 \$8.00 \$100.00 \$10.70	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$16,585.00	\$1,254.17 \$4.71 \$122.46 \$11.78	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00
ADD ALTERNATE - O-A6 -KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling, / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In	SY ITONS SY SY	1550 240 1550 80	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$2,380.00	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00	\$2,000.00 \$47,565.00 \$3,875.00 \$22,800.00 \$13,950.00 \$2,400.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$3,627.20	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$16,585.00 \$2,400.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpi	SY ITONS SY SY	1550 240 1550 80 20	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$2,380.00 \$900.00	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00	\$2,000.00 \$47,565.00 \$3,875.00 \$22,800.00 \$13,950.00 \$2,400.00 \$900.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$3,627.20 \$1,463.80	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$16,585.00 \$2,400.00 \$1,000.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpair O-5 3" Minimum Width Keyway Milling	SY ITONS SY SY	1550 240 1550 80 20 50	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$2,380.00 \$900.00 \$50.00	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00	\$2,000.00 \$47,565.00 \$3,875.00 \$22,800.00 \$13,950.00 \$2,400.00 \$900.00 \$50.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$3,627.20 \$1,463.80 \$149.50	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$16,585.00 \$2,400.00 \$1,000.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00 \$140.00
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpare WMA Wearing Course with FORTA-FI Fiber R O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3' Average Width)	SY FTONS SY SY SY LF LF	1550 240 1550 80 20	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$1.30	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$2,380.00 \$900.00 \$50.00 \$1,157.00	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00	\$2,000.00 \$47,565.00 \$3,875.00 \$22,800.00 \$13,950.00 \$2,400.00 \$900.00 \$50.00 \$890.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$3,627.20 \$1,463.80 \$149.50 \$1,246.00	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$16,585.00 \$2,400.00 \$1,000.00 \$50.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00 \$140.00 \$2,625.50
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpair O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Pe	SY FTONS SY SY SY LF LF	1550 240 1550 80 20 50	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$2,380.00 \$900.00 \$50.00 \$1,157.00 \$3,000.00	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00	\$2,000.00 \$47,565.00 \$3,875.00 \$22,800.00 \$13,950.00 \$900.00 \$50.00 \$890.00 \$2,700.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99	\$750.13 \$55,091.23 \$4,262.50 \$16,042.50 \$3,627.20 \$1,463.80 \$11,246.00 \$750.13	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$16,585.00 \$2,400.00 \$1,000.00 \$50.00 \$1,246.00 \$1,500.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75	\$1,254.17 \$64,075.37 \$7,300.55 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00 \$140.00 \$2,625.50 \$1,337.77
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4B Sase Repair including 10" Unclassified Excavation, Class IV Fabric, in O-4B Trench Repair including "O' Unclassified Excavation 6" Depth Superpair O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Pe	SY FTONS SY SY SY LF LF	1550 240 1550 80 20 50 890 1	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$3,000.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$2,380.00 \$50.00 \$1,157.00 \$3,000.00 \$87,187.90	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00 \$2,700.00	\$2,000.00 \$47,565.00 \$3,875.00 \$22,800.00 \$13,950.00 \$2,400.00 \$50.00 \$890.00 \$2,700.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$3,627.20 \$1,463.80 \$11,246.00 \$750.13 \$109,781.07	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.00 \$1.40 \$1,500.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$16,585.00 \$2,400.00 \$1,000.00 \$50.00 \$1,246.00 \$1,500.00 \$1,146.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00 \$140.00 \$2,625.50 \$1,337.77 \$158,397.19
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpair O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Pe ADD ALTERNATE - O-A7 - BERWICK DRIVE (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth	SY TONS SY SY SY LF LF LS	1550 240 1550 80 20 50 890 1	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$1.30 \$3,000.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$2,380.00 \$900.00 \$50.00 \$1,157.00 \$3,000.00 \$3,7187.90 \$7,723.50	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00 \$2,700.00	\$2,000.00 \$47,565.00 \$3,875.00 \$22,800.00 \$13,950.00 \$900.00 \$50.00 \$890.00 \$2,700.00 \$91,190.00 \$7,125.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$3,627.20 \$1,463.80 \$149.50 \$1,246.00 \$750.13 \$109,781.07	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.40 \$1,500.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$16,585.00 \$1,000.00 \$50.00 \$1,246.00 \$1,500.00 \$1,150.00 \$2,240.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00 \$140.00 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpair O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Peroperty of the Course of the Course of the Course with FORTA-FI Fiber R O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R	SY TONS SY SY LF LF LS SY TONS	1550 240 1550 80 20 50 890 1	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$3,000.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$900.00 \$50.00 \$1,157.00 \$3,000.00 \$87,187.90 \$7,723.50	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00 \$2,700.00	\$2,000.00 \$47,565.00 \$3,875.00 \$22,800.00 \$13,950.00 \$2,400.00 \$900.00 \$50.00 \$890.00 \$2,700.00 \$91,190.00 \$7,125.00 \$40,850.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$3,627.20 \$1,463.80 \$11,246.00 \$750.13 \$109,781.07	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.00 \$1.40 \$1,500.00 \$8.00 \$10.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$16,585.00 \$2,400.00 \$50.00 \$1,246.00 \$1,500.00 \$1,1460.00 \$22,800.00 \$43,000.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$1,435.00 \$140.00 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In: O-5B 1" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3' Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Pe ADD ALTERNATE - O-A7 - BERWICK DRIVE (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Warring Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In	SY ITONS SY ISY LF LF LS SY TONS SY SY SY SY	1550 240 1550 80 20 50 890 1 1 2850 430 2850	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$50.00 \$50.00 \$3,380.00 \$3,1757.00 \$3,000.00 \$87,187.90 \$7,723.50 \$36,670.40 \$6,334.00 \$12,495.00	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00 \$2,700.00 \$2,700.00 \$9.00 \$9.00	\$2,000.00 \$47,565.00 \$2,875.00 \$22,800.00 \$13,950.00 \$900.00 \$50.00 \$2,700.00 \$91,190.00 \$7,125.00 \$40,850.00 \$25,650.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$1,465.80 \$12,46.00 \$750.13 \$109,781.07 \$7,837.50 \$49,359.70 \$29,497.50	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.40 \$1,500.00 \$1.40 \$1,500.00 \$1.00 \$1.00.00 \$30.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$1,585.00 \$1,000.00 \$50.00 \$1,1246.00 \$1,590.00 \$11,460.00 \$22,800.00 \$43,000.00 \$30,495.00 \$12,500.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00 \$140.00 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$52,582.50
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4B Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpair O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Minimeance and Protection of Traffic during Construction as per P	SY ITONS SY ISY LF LF LS SY TONS SY SY SY SY	1550 240 1550 80 20 50 890 1 1 2850 430 2850 420 20	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$900.00 \$50.00 \$1,157.00 \$3,000.00 \$87,187.90 \$7,723.50 \$36,670.40 \$26,334.00 \$1,495.00	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00 \$2,700.00 \$25.00 \$95.00 \$9.00 \$30.00	\$2,000.00 \$47,565.00 \$22,800.00 \$13,875.00 \$22,800.00 \$3,900.00 \$50.00 \$890.00 \$2,700.00 \$91,190.00 \$7,125.00 \$40,850.00 \$25,650.00 \$1,600.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$3,627.20 \$1,463.80 \$1,246.00 \$750.13 \$109,781.07 \$7,837.50 \$49,359.70 \$29,497.50 \$1,942.80 \$1,942.80	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.00 \$1.40 \$1,500.00 \$1.00 \$1.070 \$30.00 \$50.00 \$1.070 \$30.00 \$50.00	\$1,500.00 \$59,181.00 \$24,000.00 \$24,000.00 \$1,585.00 \$1,000.00 \$50.00 \$1,246	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$1,435.00 \$1,40.00 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$52,582.50 \$13,37.00 \$14,000 \$18
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, in O-4B Trench Repair including "O' Unclassified Excavation 6" Depth Superpair O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Per ADD ALTERNATE - O-A7 - BERWICK DRIVE (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpa	SY TONS SY SY SY LF LF LS SY TONS SY SY LF LS SY TONS SY TONS SY LF LS	1550 240 1550 80 20 50 890 1 1 2850 430 2850	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$13,380.00 \$50.00 \$50.00 \$3,380.00 \$3,107.00 \$37,723.50 \$87,187.90 \$7,723.50 \$6,670.40 \$26,334.00 \$12,495.00 \$900.00 \$55.00	\$2,000.00 \$2.50 \$95.00 \$9.00 \$13.00 \$1.00 \$1.00 \$2,700.00 \$2.50 \$95.00 \$30.00 \$45.00 \$1.00	\$2,000.00 \$47,565.00 \$2,875.00 \$22,800.00 \$13,950.00 \$50.00 \$50.00 \$2,700.00 \$7,125.00 \$40,850.00 \$11,600.00 \$500.00 \$25,650.00 \$12,660.00 \$500.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$1,463.80 \$750.13 \$109,781.07 \$7,837.50 \$49,359.70 \$19,042.80 \$19,042.80 \$14,638.80	\$1,500.00 \$8.00 \$100.00 \$107.00 \$30.00 \$1.00 \$1.40 \$1,500.00 \$1.00.0	\$1,500.00 \$59,181.00 \$24,000.00 \$24,000.00 \$1,2400.00 \$1,000.00 \$1,000.00 \$1,246.00 \$1,500.00 \$22,800.00 \$22,800.00 \$33,495.00 \$10,000.00 \$1,000.00 \$55.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75 \$2.80	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$18,837.00 \$1435.00 \$1,435.00
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In. O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpi O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Pe ADD ALTERNATE -O-A7 -BERWICK DRIVE (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation (3 Depth Superpi O-5 3" Minimum Width Keyway Milling O-7 Mäintenance and Protection of Traffic during Construction as per Pe	SY TONS SY SY SY LF LF LS SY TONS SY SY LF LS SY TONS SY TONS SY LF LS	1550 240 1550 80 20 50 890 1 1 2850 430 2850 420 20	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$900.00 \$50.00 \$3,380.00 \$3,1757.00 \$3,000.00 \$87,187.90 \$3,670.40 \$26,334.00 \$12,495.00 \$900.00 \$65.00 \$3,000.00	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00 \$2,700.00 \$25.00 \$95.00 \$9.00 \$30.00	\$2,000.00 \$47,565.00 \$23,875.00 \$22,800.00 \$13,950.00 \$900.00 \$50.00 \$2,700.00 \$91,190.00 \$40,850.00 \$25,5650.00 \$12,660.00 \$65.00 \$65.00 \$65.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$1,445.50 \$1,246.00 \$750.13 \$109,781.07 \$7,837.50 \$49,359.70 \$1,463.80 \$1,463.80 \$1,463.80 \$1,463.80 \$1,463.80 \$1,463.80 \$1,463.80 \$1,463.80	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.00 \$1.40 \$1,500.00 \$1.00 \$1.070 \$30.00 \$50.00 \$1.070 \$30.00 \$50.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$1,585.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,1246.00 \$1,500.00 \$11,460.00 \$22,800.00 \$43,000.00 \$3,495.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$1,435.00 \$1,40.00 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$1,435.00 \$1,435.00 \$1,435.00 \$1,435.00 \$1,435.00 \$1,435.00 \$1,435.00 \$1,435.00 \$1,668.89
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpave WMA Wearing Course with FORTA-FI Fiber R O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per P	SY TTONS SY SY LF LF LS SY TONS SY LF LF LS SY TONS SY TONS SY LF LF LS LS LF LF LLS LF LF LS LF LF LS LS LF LF LS	1 1550 240 1550 80 200 50 420 430 2850 420 65 1	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$3,000.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$900.00 \$50.00 \$3,187.90 \$3,000.00 \$87,187.90 \$7,723.50 \$36,670.40 \$26,334.00 \$50.	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$1.00 \$1.00 \$2,700.00 \$9.00 \$9.00 \$30.00 \$45.00 \$1.00 \$45.00 \$1.00 \$45.00	\$2,000.00 \$47,565.00 \$24,7565.00 \$22,800.00 \$13,950.00 \$900.00 \$900.00 \$900.00 \$2,700.00 \$91,190.00 \$7,125.00 \$40,850.00 \$25,650.00 \$12,600.00 \$65.00 \$40,000.00 \$39,055.14	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$2.35	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$3,627.20 \$1,463.80 \$1,246.00 \$750.13 \$109,781.07 \$7,837.50 \$49,359.70 \$29,497.50 \$1,042.80 \$1,043.80 \$1,	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.00 \$1.40 \$1,500.00 \$1.07 \$30.00 \$1.070 \$10.70 \$30.00 \$10.70 \$30.00 \$1.070 \$30.00 \$1.070	\$1,500.00 \$59,181.00 \$24,000.00 \$24,000.00 \$1,585.00 \$1,000.00 \$50.00 \$1,200.00 \$1,246.00 \$1,250.00 \$1,260.00 \$22,800.00 \$30,495.00 \$1,000.00 \$50,000 \$1,000.00 \$1,000	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75 \$2.80 \$668.89	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$1,435.00 \$1,40.00 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$52,582.50 \$13,37.00 \$14,35.00 \$14,35.00 \$14,35.00 \$182.00 \$668.89 \$66,299.88
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, in O-4B Trench Repair including of "Unclassified Excavation 6" Depth Superpair O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Per ADD ALTERNATE - O-A7 - BERWICK DRIVE (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpair O-5 3" Minimum Width Keyway Milling O-7 Maintenance and Protection of Traffic during Construction as per Per Madden And Albander Construction as Per	SY	1 1550 240 1550 80 80 15 50 890 1 1 2850 430 2850 430 430 430 430 430 430 430 430 430 43	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$3,000.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$900.00 \$50.00 \$1,157.00 \$3,000.00 \$7,723.50 \$87,187.90 \$7,723.50 \$6,670.40 \$26,334.00 \$12,495.00 \$56.00 \$56.00 \$56.00 \$56.00 \$56.00 \$56.10 \$16,413.10	\$2,000.00 \$2.50 \$95.00 \$9.00 \$45.00 \$1.00 \$1.00 \$2,700.00 \$2,700.00 \$3.00 \$45.00 \$45.00 \$45.00 \$45.00 \$45.00 \$45.00 \$45.00	\$2,000.00 \$47,565.00 \$2,875.00 \$22,800.00 \$13,875.00 \$22,800.00 \$500.00 \$500.00 \$50.00 \$51,700.00 \$7,125.00 \$40,850.00 \$25,650.00 \$12,600.00 \$40,000.00 \$40,000.00 \$40,000.00 \$40,000.00 \$40,000.00 \$40,000.00 \$40,000.00 \$40,000.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$2.385.42	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$1,49.50 \$1,246.00 \$750.13 \$109,781.07 \$7,837.50 \$49,359.70 \$19,042.80 \$1,63.80 \$1,46	\$1,500.00 \$8.00 \$100.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.40 \$1,500.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$1,585.00 \$1,000.00 \$1,000.00 \$1,246.00 \$1,500.00 \$22,800.00 \$22,800.00 \$12,460.00 \$111,460.00 \$12,600.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,500.00 \$1,000.	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75 \$2.80 \$668.89	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00 \$140.00 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$18,837.00 \$14,435.00 \$14,435.00 \$668.89 \$666,299.88 \$66,299.88
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In. O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpave WMA Waring Course with FORTA-FI Fiber R O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Per R ADD ALTERNATE - O-A7 - BERWICK DRIVE (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Waring Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In. O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpave WMA Waring Construction as per P	SY TTONS SY SY SY SY LF LF LS SY TTONS SY LS SY LS SY TTONS SY TTONS	1 1550 240 1550 80 20 50 890 1 1 2850 420 20 65 5 1 1	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$3,000.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$900.00 \$50.00 \$3,380.00 \$3,1757.00 \$3,000.00 \$87,187.90 \$36,670.40 \$65,00 \$65.00 \$3,000.00 \$65.00 \$65.00 \$3,000.00 \$65.00 \$3,000.00 \$65.00 \$12,495.00 \$3,000.00 \$65.00 \$1,1795.00	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00 \$2,700.00 \$9.00 \$9.00 \$1.00 \$2,700.00 \$9.00 \$1.00 \$4,00 \$1.00 \$9.00 \$1.00 \$2,700.00	\$2,000.00 \$47,565.00 \$23,875.00 \$22,800.00 \$13,950.00 \$900.00 \$900.00 \$2,700.00 \$91,190.00 \$7,125.00 \$40,850.00 \$25,650.00 \$65.00 \$4000.00 \$4,000.00 \$39,655.14 \$81,700.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$2.99 \$2.385.42	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$1,445.50 \$1,246.00 \$750.13 \$109,781.07 \$7,837.50 \$49,359.70 \$1,463.80 \$1,4	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.40 \$1,500.00 \$1.40 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$1,585.00 \$1,000.00 \$1,000.00 \$1,246.00 \$1,500.00 \$11,460.00 \$22,800.00 \$3,495.00 \$1,000.00 \$	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75 \$2.80 \$668.89	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00 \$1,40.00 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$52,582.50 \$13,37.70 \$18,397.19 \$20,034.00 \$52,657.80 \$52,582.50 \$18,837.00 \$14,35.00 \$18,200 \$668.89 \$66,299.88 \$10,986.50 \$14,203.20
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-4B Trench Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpave WMA Waring Course with FORTA-FI Fiber R O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Peroperty of the Course of the Course with FORTA-FI Fiber R O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-4B Trench Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpave WMA Waring Course with FORTA-FI Fiber R O-5 3" Minimum Width Keyway Milling O-7 Maintenance and Protection of Traffic during Construction as per Peroper Superpave WMA Waring Course with FORTA-FI Fiber R ADD ALTERNATE - O-A8A-MEADOW PARK PICKLEBALL (O'HARA TOWNSHIP) O-1C 8" Limestone Subbase including Preparation of Subgrade and Install Course WMA Binder Course with FORTA-FI Fiber R O-2A 1.5" Depth, Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Binder Course with FORTA-FI Fiber R	SY TTONS SY SY SY SY LF LF LS SY TTONS SY LS SY LS SY TTONS SY TTONS	1 1550 240 1550 800 20 50 800 20 11 20 20 430 430 430 430 430	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$3,000.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$900.00 \$50.00 \$3,1875.00 \$3,000.00 \$87,187.90 \$7,723.50 \$36,670.40 \$26,334.00 \$50.00 \$50.00 \$12,495.00 \$50.00 \$50.00 \$12,495.00 \$12,4	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00 \$2,700.00 \$2,700.00 \$95.00 \$45.00 \$4,000.00 \$4,000.00	\$2,000.00 \$47,565.00 \$24,7565.00 \$22,800.00 \$13,950.00 \$900.00 \$900.00 \$2,700.00 \$91,190.00 \$40,850.00 \$25,650.00 \$40,000.00 \$40,000.00 \$39,655.14 \$3,170.00 \$33,870.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$2.385.42	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$1,465.80 \$1,245.00 \$750.13 \$109,781.07 \$7,837.50 \$49,355.70 \$19,042.60 \$1,463.80 \$1,	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$550.00 \$1.00 \$1.40 \$1,500.00 \$1.07 \$30.00 \$1,500.00 \$10.70 \$30.00 \$50.00 \$1.00 \$1.00 \$1.000 \$1.000 \$1.000 \$1.000 \$1.000 \$1.000 \$1.000 \$1.000 \$1.000 \$1.000 \$1.000 \$1.000 \$1.000	\$1,500.00 \$59,181.00 \$24,000.00 \$24,000.00 \$1,585.00 \$1,000.00 \$1,000.00 \$1,246.00 \$1,246.00 \$1,246.00 \$1,246.00 \$1,246.00 \$1,246.00 \$1,500.00 \$43,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$1,500.0	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75 \$2.80 \$668.89	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$18,259.00 \$1,40.00 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$52,582.50 \$18,837.00 \$1,435.00 \$1,435.00 \$1,82.00 \$668.89 \$66,299.88 \$10,986.50 \$14,203.20 \$14,203.20
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, in O-4B Trench Repair including of "Unclassified Excavation 6" Depth Superpair O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per P	SY TONS SY SY SY LF LF LF LS SY TONS SY TONS SY TONS SY LF LF LS SY TONS SY LF LF LS LF	1 1550 240 1550 80 20 50 890 1 1 2850 420 20 65 5 1 1	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.30 \$3,000.00 \$2.71 \$85.81 \$9.24 \$29.75 \$45.00 \$3,000.00 \$3,000.00 \$3,000.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$900.00 \$50.00 \$1,157.00 \$3,300.00 \$7,723.50 \$36,670.40 \$26,334.00 \$12,495.00 \$6,100.00 \$1,415.00 \$1,41	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00 \$2,700.00 \$2,700.00 \$95.00 \$45.00 \$44.000.00 \$41.00	\$2,000.00 \$47,565.00 \$2,875.00 \$22,800.00 \$13,875.00 \$22,800.00 \$24,400.00 \$900.00 \$50.00 \$27,700.00 \$7,125.00 \$40,850.00 \$25,650.00 \$40,850.00 \$40,850.00 \$30,000 \$40,000.00 \$40,000.00 \$40,000.00 \$40,000.00 \$7,600.00 \$7,600.00 \$7,600.00 \$3,870.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$2,385.42	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,465.30 \$1,465.0 \$750.13 \$109,781.07 \$7,837.50 \$1,465.30 \$1,465	\$1,500.00 \$8.00 \$100.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.40 \$1,500.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00 \$100.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$1,585.00 \$1,000.00 \$1,000.00 \$1,246.00 \$1,500.00 \$1,246.00 \$1,500.00 \$1,246.00 \$1,500.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,500.00 \$1,	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75 \$2.80 \$668.89	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00 \$14,000 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$14,35.00 \$14,35.00 \$14,35.00 \$66,299.88 \$10,986.50 \$14,203.20 \$14,203.20 \$10,664.00 \$722.75
ADD ALTERNATE - O-A6 -KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpi O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Per R ADD ALTERNATE - O-A7 -BERWICK DRIVE (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Wearing Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-7 Maintenance and Protection of Traffic during Construction as per Per R ADD ALTERNATE - O-A8A-MEADOW PARK PICKLEBALL (O'HARA TOWNSHIP) O-1C S" Limestone Subbase including Preparation of Subgrade and Install O-2A Variable Depth Superpave WMA Wearing Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-2A Variable Depth Superpave WMA Wearing Course with FORTA-FI Fiber R O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-6 Restoration of Lawn Areas (3' Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Per R O-6 Restoration of Lawn Areas (3' Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Per R O-6 Restoration of Lawn Areas (3' Average Width)	SY TTONS SY SY LF LF LS SY TTONS SY LF LS SY TTONS SY TTONS SY LF LS LS LS LF LLS LS LS LF LLS LS LS LF LLS LS LF LLS LS LS LF LLS LS LS LF LS LS LF LS LS LF LS LS LS LF LS	1 1550 240 1550 800 20 50 800 20 11 20 20 430 430 430 430 430	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$3,000.00 \$38.17 \$89.90 \$12.00 \$5.00 \$5.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$900.00 \$50.00 \$3,380.00 \$3,187.90 \$3,000.00 \$87,187.90 \$36,670.40 \$56,334.00 \$65.00 \$65.00 \$65.00 \$65.00 \$50,00.00 \$86,190.10 \$50,00.00 \$50,00 \$12,495.00 \$12,495.00 \$50,00 \$50,00 \$50,00 \$12,495.00 \$50,00 \$50,00 \$50,00 \$12,495.00 \$50,00	\$2,000.00 \$2,50 \$95.00 \$90.00 \$30.00 \$45.00 \$1.00 \$2,700.00 \$30.00 \$45.00 \$50.00 \$9.00 \$9.00 \$1.00 \$4,000.00 \$1.00 \$4,000.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00	\$2,000.00 \$47,565.00 \$23,875.00 \$22,800.00 \$13,950.00 \$2,400.00 \$900.00 \$50.00 \$2,700.00 \$91,190.00 \$71,125.00 \$40,850.00 \$25,650.00 \$65.00 \$40,000.00 \$39,655.14 \$81,770.00 \$38,870.00 \$38,870.00 \$38,870.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$2.98 \$2.99 \$2.385.42 \$22.30 \$155.37 \$20.83 \$45.75 \$20.83 \$45.75 \$20.83 \$45.75 \$2.99	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$1,445.50 \$1,246.00 \$750.13 \$109,781.07 \$7,837.50 \$49,359.70 \$29,497.50 \$1,463.80 \$1,	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.40 \$1,500.00 \$1.00.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$1,585.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,1246.00 \$1,500.00 \$11,460.00 \$22,800.00 \$3,495.00 \$15,000.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75 \$2.80 \$668.89	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$1,8259.00 \$1,40.00 \$1,40.00 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$52,582.50 \$18,837.00 \$1,435.00 \$18,200 \$668.89 \$66,299.88 \$10,986.50 \$14,203.20 \$10,664.00 \$722.75 \$668.89
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-4B Trench Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpave WMA Wearing Course with FORTA-FI Fiber R O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Peroperty of the Course with FORTA-FI Fiber R O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-4B Trench Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation, Class IV Fabric, In O-5 3" Minimum Width Keyway Milling O-7 Maintenance and Protection of Traffic during Construction as per Peropare WMA Waring Course with FORTA-FI Fiber R ADD ALTERNATE - O-A8A-MEADOW PARK PICKLEBALL (O'HARA TOWNSHIP) O-1C 8" Limestone Subbase including Preparation of Subgrade and Install O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Binder Course with FORTA-FI Fiber R O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Peroper Width Portal Profile Profil	SY TTONS SY SY LF LF LS SY TONS SY LF LS SY TTONS SY LF LS SY TTONS SY LF LS SY LF LS SY LF LS	1 1550 240 1550 800 20 50 800 20 11 20 850 430 430 430 430 430 245 1 1 2 2	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00	\$3,000.00 \$46,476.70 \$42,020.50 \$20,467.20 \$14,322.00 \$5900.00 \$500.00 \$3,1157.00 \$3,000.00 \$87,187.90 \$7,723.50 \$36,670.40 \$26,334.00 \$12,495.00 \$56,000 \$51,400.00 \$51,400.00 \$51,400.00 \$51,400.00 \$51,400.00 \$51,400.00	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00 \$1.00 \$2,700.00 \$25.00 \$9.00 \$45.00 \$9.00 \$9.00 \$1.00 \$4,000.00 \$1.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00	\$2,000.00 \$47,565.00 \$22,800.00 \$13,875.00 \$22,800.00 \$3,875.00 \$2,400.00 \$900.00 \$50,00 \$2,700.00 \$40,850.00 \$27,560.00 \$12,660.00 \$390.00 \$390.00 \$390.00 \$4,000.00 \$39,655.14 \$4,870.00 \$39,655.14 \$4,870.00 \$4,000.00 \$39,655.14	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$2,385.42 \$22.30 \$155.37 \$20.83 \$4.53 \$5.53 \$6.53 \$6.53 \$6.53 \$73.19 \$6.53 \$73.19 \$74.10 \$	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$1,49.50 \$1,245.00 \$750.13 \$109,781.07 \$7,873.75 \$49,359.70 \$49,359.70 \$19,435 \$1,463.80 \$1,463	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.00 \$1.40 \$1,500.00 \$1.070 \$30.00 \$1.070 \$30.00 \$1.070 \$30.00 \$1.000 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$200.00 \$30.00 \$1,000.00 \$30.00 \$1,000.00 \$30.00 \$1,000.00	\$1,500.00 \$59,181.00 \$24,000.00 \$24,000.00 \$1,585.00 \$1,000.00 \$1,000.00 \$1,500.00 \$1,500.00 \$43,000.00 \$43,000.00 \$12,800.00 \$1,000.00 \$12,800.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75 \$2.80 \$668.89 \$25.55 \$177.54 \$24.80 \$24.80 \$2.95 \$24.80 \$2.95 \$2.85 \$2.95 \$2.	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$14,000 \$1,40.00 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$52,582.50 \$13,837.00 \$1,435.00 \$182.00 \$166.89 \$66,299.88 \$10,986.50 \$14,203.20 \$10,664.00 \$722.75 \$66.89 \$5,5372.04
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, in O-4B Trench Repair including of "Unclassified Excavation 6" Depth Superpair O-5 3' Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3' Average Width) O-7 Maintenance and Protection of Traffic during Construction as per P	SY TTONS SY SY LF LF LS SY TONS SY LF LS SY TTONS SY LF LS SY TTONS SY LF LS SY LF LS SY LF LS	1 1550 240 1550 800 20 50 800 20 11 20 20 430 430 430 430 430	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$3,000.00 \$38.17 \$89.90 \$12.00 \$5.00 \$5.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$900.00 \$50.00 \$3,380.00 \$3,187.90 \$3,000.00 \$87,187.90 \$36,670.40 \$56,334.00 \$65.00 \$65.00 \$65.00 \$65.00 \$50,00.00 \$86,190.10 \$50,00.00 \$50,00 \$12,495.00 \$12,495.00 \$50,00 \$50,00 \$50,00 \$12,495.00 \$50,00 \$50,00 \$50,00 \$12,495.00 \$50,00	\$2,000.00 \$2,50 \$95.00 \$90.00 \$30.00 \$45.00 \$1.00 \$2,700.00 \$30.00 \$45.00 \$50.00 \$9.00 \$9.00 \$1.00 \$4,000.00 \$1.00 \$4,000.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00	\$2,000.00 \$47,565.00 \$23,875.00 \$22,800.00 \$13,950.00 \$2,400.00 \$900.00 \$50.00 \$2,700.00 \$91,190.00 \$71,125.00 \$40,850.00 \$25,650.00 \$65.00 \$40,000.00 \$39,655.14 \$81,770.00 \$38,870.00 \$38,870.00 \$38,870.00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$2.98 \$2.99 \$2.385.42 \$22.30 \$155.37 \$20.83 \$45.75 \$20.83 \$45.75 \$20.83 \$45.75 \$2.99	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$1,445.50 \$1,246.00 \$750.13 \$109,781.07 \$7,837.50 \$49,359.70 \$29,497.50 \$1,463.80 \$1,	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.40 \$1,500.00 \$1.00.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$1,585.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,1246.00 \$1,500.00 \$11,460.00 \$22,800.00 \$3,495.00 \$15,000.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75 \$2.80 \$668.89	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$1,8259.00 \$1,40.00 \$1,40.00 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$52,582.50 \$18,837.00 \$1,435.00 \$18,200 \$668.89 \$66,299.88 \$10,986.50 \$14,203.20 \$10,664.00 \$722.75 \$668.89
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-4B Trench Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpave WMA Wearing Course with FORTA-FI Fiber R O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Peroperty of the Course with FORTA-FI Fiber R O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-4B Trench Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation, Class IV Fabric, In O-5 3" Minimum Width Keyway Milling O-7 Maintenance and Protection of Traffic during Construction as per Peropare WMA Waring Course with FORTA-FI Fiber R ADD ALTERNATE - O-A8A-MEADOW PARK PICKLEBALL (O'HARA TOWNSHIP) O-1C 8" Limestone Subbase including Preparation of Subgrade and Install O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Binder Course with FORTA-FI Fiber R O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Peroper Width Portal Profile Profil	SY TTONS SY SY LF LF LS SY TONS SY LF LS SY TTONS SY LF LS SY TTONS SY LF LS SY LF LS SY LF LS	1 1550 240 1550 800 20 50 800 20 11 20 850 430 430 430 430 430 245 1 1 2 2	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$900.00 \$50.00 \$1,157.00 \$3,000.00 \$7,723.50 \$36,670.40 \$26,334.00 \$12,495.00 \$50.00 \$1,457.00 \$1,495.0	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00 \$1.00 \$2,700.00 \$25.00 \$9.00 \$45.00 \$9.00 \$9.00 \$1.00 \$4,000.00 \$1.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00	\$2,000.00 \$47,565.00 \$2,875.00 \$22,800.00 \$13,875.00 \$22,800.00 \$22,400.00 \$900.00 \$50.00 \$27,700.00 \$7,125.00 \$40,850.00 \$25,650.00 \$12,600.00 \$40,000.00 \$39,655.14 \$8,170.00 \$7,500.00 \$3,870.00 \$2,245.00 \$2,200.00 \$3,270.00 \$4,000.00 \$4,000.00 \$4,000.00 \$4,000.00 \$4,000.00 \$4,000.00 \$4,000.00 \$5,572.64 \$2,572.64 \$2,572.64 \$2,572.64 \$2,572.64	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$2,385.42 \$22.30 \$155.37 \$20.83 \$4.53 \$5.53 \$6.53 \$6.53 \$6.53 \$73.19 \$6.53 \$73.19 \$74.10 \$	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$1,465.00 \$750.13 \$109,781.07 \$783.75 \$49,359.70 \$1,463.80 \$1,463	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.00 \$1.40 \$1,500.00 \$1.070 \$30.00 \$1.070 \$30.00 \$1.070 \$30.00 \$1.000 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$200.00 \$30.00 \$1,000.00 \$30.00 \$1,000.00 \$30.00 \$1,000.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,246.00 \$1,500.00 \$1,500.00 \$1,246.00 \$1,500.00 \$1,500.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,500.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75 \$2.80 \$668.89 \$25.55 \$177.54 \$24.80 \$24.80 \$2.95 \$24.80 \$2.95 \$2.85 \$2.95 \$2.	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00 \$14,000 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$14,35.00 \$14,435.00 \$14,435.00 \$66,299.88 \$10,986.50 \$14,203.20 \$10,664.00 \$722.75 \$668.89 \$53,372.04 \$23,582.50
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpix O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Per ADD ALTERNATE - O-A7 - BERWICK DRIVE (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Waring Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 10" Unclassified Excavation ("Depth Superpix O-5" Maintenance and Protection of Traffic during Construction as per Per ADD ALTERNATE - O-A8A-MEADOW PARK PICKLEBALL (O'HARA TOWNSHIP) O-1C S" Limestone Subbase including Preparation of Subgrade and Install O-2A Variable Depth Superpave WMA Waring Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Per Per Course with FORTA-FI Fiber R O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Per Per Course with FORTA-FI Fiber R O-10 Pickleball Court Net and Two Post Assembly, Including Foundations, United Data Liternation of Lawn Areas (4" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Per O-10 Pickleball Court Net and Two Post Assembly, Including Foundations, United Course Mind Forta-Fired Course with FORTA-FI Fiber R O-10 Pickleball Court Net a	SY TTONS SY SY LF LF LS SY TONS SY LF LS SY TTONS SY LF LS SY TTONS SY LF LS SY LF LS SY LF LS	1 1550 240 1550 80 20 50 890 1 1 2850 420 20 65 1 1 430 430 430 430 430 250	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.0	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$50,00 \$50,00 \$3,300.00 \$3,1757.00 \$3,000.00 \$87,187.90 \$7,723.50 \$36,670.40 \$65,00 \$65,00 \$65,00 \$50,00 \$50,00 \$50,00 \$12,495.00 \$12,495.00 \$50,00 \$12,495.00 \$50,00 \$50,00 \$12,495.00 \$12,4	\$2,000.00 \$2,500 \$95.00 \$90.00 \$10.00 \$1.00 \$2,700.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$10.00 \$50.00 \$50.00 \$10.00 \$50.	\$2,000.00 \$47,565.00 \$23,875.00 \$22,800.00 \$13,950.00 \$900.00 \$900.00 \$50.00 \$2,700.00 \$91,190.00 \$71,125.00 \$40,850.00 \$25,650.00 \$12,660.00 \$390.00 \$55.00 \$12,600.00 \$39,700.	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$2,385.42 \$22.30 \$155.37 \$20.83 \$4.57 \$31.87	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$1,445.50 \$1,246.00 \$750.13 \$109,781.07 \$7,837.50 \$49,359.70 \$1,463.80 \$1,4	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.40 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$200.00 \$30.00 \$1,000.00 \$30.00 \$1,000.00 \$30.00 \$50.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,000.00 \$1,	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75 \$2.80 \$668.89 \$25.55 \$177.54 \$24.80 \$2.80	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$1,435.00 \$1,40.00 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$52,582.50 \$18,837.00 \$14,435.00 \$18,200 \$668.89 \$66,299.88 \$10,986.50 \$14,203.20 \$10,664.00 \$722.75 \$668.89 \$53,372.04 \$23,688.90 \$53,372.04
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber R O-4B Trench Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpave WMA Wearing Course with FORTA-FI Fiber R O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Peroperty of the Course of the Course with FORTA-FI Fiber R O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-4B Trench Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpave WMA Wearing Course with FORTA-FI Fiber R O-5 3" Minimum Width Keyway Milling O-7 Maintenance and Protection of Traffic during Construction as per Peroper Vision of Subgrade and Install O-14 (1" Suriable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-10 4" Suriable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Binder Course with FORTA-FI Fiber R O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Peroper Vision of Subgrade and Install O-10 Pickleball Court Net and Two Post Assembly, Including Foundations, O-11 10" High Vinyl Coated Chain Link Fence including Posts, Foundations ADD ALTERNATE - O-A8B-PICKLEBALL COMT COATING (O'HARA TOWNSHIP) O-9 Laykold* Acrylic Color Coat System Including Linestriping	SY TTONS SY SY LF LF LF LS SY TTONS SY TTONS SY TTONS SY TTONS SY LF LS LF LS SY TTONS SY LF LS SY TTONS SY TTONS SY LF LS SY TTONS SY LF LS SY TTONS SY LF LS SY TTONS SY LF LS SY LF LS SY LF LS SY LF LS SY	1 1550 240 1550 80 20 50 890 1 1 2850 420 20 65 1 1 430 430 430 430 430 250	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.0	\$3,000.00 \$46,476.70 \$42,020.50 \$20,467.20 \$14,322.00 \$900.00 \$500.00 \$3,1157.00 \$3,000.00 \$37,123.50 \$36,670.40 \$26,334.00 \$900.00 \$565.00 \$3,000.00 \$51,479.00 \$16,413.10 \$7,192.00 \$11,225.00	\$2,000.00 \$2,500 \$95.00 \$90.00 \$10.00 \$1.00 \$2,700.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$50.00 \$10.00 \$50.00 \$50.00 \$10.00 \$50.	\$2,000.00 \$47,565.00 \$22,800.00 \$13,875.00 \$22,800.00 \$3,875.00 \$2,200.00 \$900.00 \$50,00 \$2,700.00 \$40,850.00 \$27,560.00 \$12,660.00 \$39,655.14 \$8,170.00 \$39,655.14 \$8,170.00 \$245,000.00 \$245,00 \$2,2000.00 \$2,2	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$2,385.42 \$22.30 \$155.37 \$20.83 \$4.57 \$31.87	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$1,49.50 \$1,246.00 \$750.13 \$109,781.07 \$7,873.75 \$49,359.70 \$19,435 \$19,435 \$19,435 \$19,435 \$19,435 \$19,435 \$19,435 \$19,435 \$19,435 \$19,435 \$19,435 \$19,435 \$11,463.80 \$11	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.40 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$200.00 \$30.00 \$1,000.00 \$30.00 \$1,000.00 \$30.00 \$50.00	\$1,500.00 \$59,181.00 \$24,000.00 \$24,000.00 \$1,585.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,500.00 \$1,500.00 \$43,000.00 \$43,000.00 \$43,000.00 \$43,000.00 \$15,500.00 \$11,600.00 \$11,500.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75 \$2.80 \$668.89 \$25.55 \$177.54 \$24.80 \$2.80	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$18,259.00 \$1,40.00 \$1,40.00 \$2,625.50 \$13,37.77 \$158,397.19 \$32,034.00 \$52,657.80 \$52,582.50 \$18,837.00 \$182.00
ADD ALTERNATE - O-A6 -KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-4B Trench Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpave WMA Waring Course with FORTA-FI Fiber R O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per P	SY TTONS SY SY LF LF LF LS SY TTONS SY TTONS SY TTONS SY TTONS SY LF LS LF LS SY TTONS SY LF LS SY TTONS SY TTONS SY LF LS SY TTONS SY LF LS SY TTONS SY LF LS SY TTONS SY LF LS SY LF LS SY LF LS SY LF LS SY	1 1550 240 1550 80 20 50 890 1 1 2850 420 20 65 1 1 430 430 430 430 430 250	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$3,000.00	\$3,000.00 \$46,476.70 \$4,200.50 \$20,467.20 \$14,322.00 \$900.00 \$5,380.00 \$50.00 \$1,157.00 \$3,000.00 \$87,187.90 \$7,723.50 \$36,670.40 \$26,334.00 \$12,495.00 \$30,000 \$55,000 \$30,000 \$55,000 \$30,000 \$55,000 \$30,000 \$55,000 \$55,000 \$50,00	\$2,000.00 \$2,50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00 \$2,700.00 \$2,700.00 \$30.00 \$45.00 \$2,700.00 \$30.00 \$45.00 \$30.00 \$45.00 \$30.00 \$45.00 \$40.00 \$40.00 \$51.00	\$2,000.00 \$47,565.00 \$23,875.00 \$22,800.00 \$13,950.00 \$50.00 \$50.00 \$50.00 \$7,125.00 \$40,850.00 \$112,600.00 \$40,850.00 \$40,850.00 \$40,850.00 \$40,850.00 \$40,00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$2,385.42 \$22.30 \$155.37 \$20.83 \$4.57 \$937.66 \$5,183.36 \$5,183.36 \$111.87	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$149.50 \$1,463.80 \$750.13 \$109,781.07 \$78,37.50 \$49,359.70 \$1,463.80 \$1,463	\$1,500.00 \$8.00 \$100.00 \$100.00 \$107.70 \$30.00 \$50.00 \$1.40 \$1,500.00 \$100.00 \$10.70 \$30.00 \$10.70 \$30.00 \$10.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$200.00 \$30.00 \$1,000.00 \$3,000.00 \$3,000.00 \$50.00 \$50.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,246.00 \$1,500.00 \$12,246.00 \$11,460.00 \$22,800.00 \$21,000.00 \$12,600.00 \$1,500.00 \$1,	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75 \$2.80 \$668.89 \$25.55 \$1,77.54 \$24.80 \$668.89 \$2,686.89 \$2,686.89 \$2,686.89	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00 \$1,435.00 \$52,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$18,837.00 \$14,35.00 \$668.89 \$666,299.88 \$10,986.50 \$14,203.20 \$14,203.
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In. O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpave WMA Waring Course with FORTA-FI Fiber R O-5 3" Minimum Width Keyway Milling O-6 Restoration of LamA news 3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Per Management of Course with FORTA-FI Fiber R ADD ALTERNATE - O-A7 - BERWICK DRIVE (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Waring Course with FORTA-FI Fiber R O-4A Base Repair including 10" Unclassified Excavation, Class IV Fabric, In. O-4B Trench Repair including 6" Unclassified Excavation (Class IV Fabric, In.) O-5 3" Minimum Width Keyway Milling O-7 Maintenance and Protection of Traffic during Construction as per Per ADD ALTERNATE - O-A8A-MEADOW PARR PICKLEBALL (O'HARA TOWNSHIP) O-1C 8" Limestone Subbase including Preparation of Subgrade and Install O-2A Variable Depth Superpave WMA Waring Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per Per O-10 Pickleball Court Net and Two Post Assembly, Including Foundations, O-11 10" High Winjt Coated Chain Link Fence including Posts, Foundations, O-11 10" High Winjt Coated Chain Link Fence including Intenstriping ADD ALTERNATE - O-A8B - PICKLEBALL COURT COATING (O'HARA TOWNSHIP) O-9 Maintenance and Protection of Traffic during Construction as per Per Device of Coates System Including Linestriping ADD ALTERNATE - O-A9 - KAPPA DRIVE + ZETA DRIVE (O'HARA TOWNSHIP) O-1 Edgeline Rumble Stri	SY TTONS SY SY LF LF LF LS SY TTONS SY TTONS SY TTONS SY TTONS SY LF LS LF LS SY TTONS SY LF LS SY TTONS SY TTONS SY LF LS SY TTONS SY LF LS SY TTONS SY LF LS SY TTONS SY LF LS SY LF LS SY LF LS SY LF LS SY	1 1550 240 1550 80 20 50 60 50 60 50 60 60 50 60 60 60 60 60 60 60 60 60 60 60 60 60	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$3,000.00	\$3,000.00 \$46,476,70 \$4,200.50 \$20,467,20 \$14,322.00 \$50,000 \$50,000 \$50,000 \$51,157,000 \$3,300.00 \$87,187,90 \$7,723.50 \$36,670.40 \$26,334.00 \$12,495.00 \$900.00 \$51,475,000 \$10,495,000 \$10,495,000 \$3,000.00 \$55,160.00 \$55,160.00 \$15,120,000 \$15,120,000 \$15,120,000 \$15,120,000 \$15,120,000 \$15,120,000 \$15,120,000 \$15,120,000 \$15,120,000 \$15,120,000 \$15,120,000 \$15,120,000 \$15,120,000 \$15,120,000 \$15,120,000 \$15,120,000 \$15,120,000 \$11,125,000 \$11,125,000 \$4,000.000 \$7,125,000 \$7,125,000 \$7,125,000 \$7,125,000 \$7,125,000 \$7,125,000	\$2,000.00 \$2.50 \$95.00 \$9.00 \$30.00 \$45.00 \$1.00 \$2,700.00 \$2,700.00 \$30.00 \$45.00 \$50	\$2,000.00 \$47,565.00 \$23,875.00 \$22,800.00 \$13,875.00 \$22,800.00 \$300.00 \$50.00 \$890.00 \$2,700.00 \$91,190.00 \$7,125.00 \$40,850.00 \$12,650.00 \$40,850.00 \$40,850.00 \$40,850.00 \$40,850.00 \$40,850.00 \$12,650.00 \$40,850.00 \$40,850.00 \$12,650.00 \$40,850.00 \$40,850.00 \$12,650.00 \$12,650.00 \$40,00.00 \$39,655.11 \$3,870.00 \$24,550.00 \$22,5572.64 \$12,197.50 \$7,800.20 \$7,800.20 \$7,800.20 \$12,423.50 \$4,500.00 \$12,423.50 \$12,42	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$2,385.42 \$22.30 \$155.37 \$20.83 \$4.57 \$937.66 \$5,183.36 \$111.87 \$17.71	\$750.13 \$55,091.23 \$4,262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$149.50 \$1,463.80 \$750.13 \$109,781.07 \$78,37.50 \$49,359.70 \$19,042.80 \$1,463.80 \$1,46	\$1,500.00 \$8.00 \$100.00 \$100.00 \$107.70 \$30.00 \$50.00 \$1.40 \$1,500.00 \$1,500.00 \$100.00 \$100.00 \$10.70 \$30.00 \$1,0	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$24,000.00 \$1,000.00 \$1,000.00 \$1,500.00 \$2,500.00	\$1,254.17 \$4.71 \$122.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$18.45 \$44.85 \$71.75 \$2.80 \$668.89 \$25.55 \$1,77.54 \$24.80 \$2668.89 \$2,686.02 \$94.73 \$48.63 \$3,344.44 \$1.85	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00 \$14,000 \$2,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$18,837.00 \$14,435.00 \$14,435.00 \$66,299.88 \$10,986.50 \$14,203.20 \$10,664.00 \$722.75 \$668.89 \$5,372.04 \$23,682.50 \$23,582.50 \$23,382.50 \$14,203.20 \$14,
ADD ALTERNATE - O-A6 - KERWOOD ROAD (O'HARA TOWNSHIP) O-1A Roadway Milling / Profiling, Variable Depth O-2A Variable Depth Superpave WMA Binder Course with FORTA-FI Fiber R O-3A 1.5" Depth, Superpave WMA Waring Course with FORTA-FI Fiber R O-4B Rese Repair including 10" Unclassified Excavation, Class IV Fabric, In O-4B Trench Repair including 6" Unclassified Excavation 6" Depth Superpave WMA Wearing Course with FORTA-FI Fiber R O-5 3" Minimum Width Keyway Milling O-6 Restoration of Lawn Areas (3" Average Width) O-7 Maintenance and Protection of Traffic during Construction as per P	SY TTONS SY LF LF LS SY TTONS SY LF LF LS SY TTONS SY SY LF LS LS LS LF LS SY TTONS SY LS	1 1550 240 1550 80 20 50 50 80 20 11 1 2850 420 20 65 1 1 430 430 245 1 2 2 50 430 11 1	\$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.30 \$3,000.00 \$2.71 \$85.28 \$9.24 \$29.75 \$45.00 \$1.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$4,000.00 \$5,000 \$5,	\$3,000.00 \$46,476.70 \$42,020.50 \$20,467.20 \$14,322.00 \$23,380.00 \$50.00 \$3,000.00 \$31,157.00 \$3,000.00 \$37,187.90 \$3,000.00 \$51,477.23.50 \$36,670.40 \$26,334.00 \$21,495.00 \$3,000.00 \$51,472.50 \$3,000.00 \$51,472.50 \$3,000.00 \$3,000.00 \$51,000.00 \$3,000.00 \$3,000.00 \$51,000.00 \$10,700.00 \$10,700.00 \$3,000.00 \$10,700.00 \$3,000.00 \$10,700.00 \$3,000.00 \$3,000.00 \$10,700.00 \$3,000.00	\$2,000.00 \$2,50 \$95.00 \$90.00 \$10.00 \$1.00 \$2,700.00 \$95.00 \$1.00 \$2,700.00 \$1.00 \$2,700.00 \$1.00 \$2,700.00 \$1.00 \$2,700.00 \$1.00 \$2,700.00 \$1.00 \$2,700.00 \$1.00 \$2,700.00 \$1.00 \$2,700.00 \$30.00 \$4,000.00 \$51.00	\$2,000.00 \$47,565.00 \$23,875.00 \$22,800.00 \$13,950.00 \$50.00 \$50.00 \$50.00 \$7,125.00 \$40,850.00 \$112,600.00 \$40,850.00 \$40,850.00 \$40,850.00 \$40,850.00 \$40,00	\$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$1.40 \$750.13 \$2.75 \$114.79 \$10.35 \$45.34 \$73.19 \$2.99 \$2.98 \$2.385.42 \$2.230 \$155.37 \$20.83 \$4.57 \$21.8	\$750.13 \$55,091.23 \$4262.50 \$27,549.60 \$16,042.50 \$1,463.80 \$1,495.00 \$750.13 \$109,781.07 \$7,873.50 \$49,359.70 \$49,359.70 \$19,403.80 \$1,463.80 \$1,	\$1,500.00 \$8.00 \$100.00 \$10.70 \$30.00 \$50.00 \$1.40 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$200.00 \$3,000 \$1,000.00 \$3,000.00 \$5,000 \$5,000 \$1,500.00	\$1,500.00 \$59,181.00 \$12,400.00 \$24,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,246.00 \$1,500.00 \$12,246.00 \$11,460.00 \$22,800.00 \$21,000.00 \$12,600.00 \$1,500.00 \$1,	\$1,254.17 \$4.71 \$12.46 \$11.78 \$44.84 \$71.75 \$2.80 \$2.95 \$1,337.77 \$11.24 \$122.46 \$11.85 \$44.85 \$71.75 \$2.80 \$668.89 \$25.55 \$177.54 \$24.80 \$2.480 \$2.95 \$4.85 \$2.480 \$2.95 \$4.85 \$3.344.44	\$1,254.17 \$64,075.37 \$7,300.50 \$29,390.40 \$18,259.00 \$3,587.20 \$1,435.00 \$1,435.00 \$52,625.50 \$1,337.77 \$158,397.19 \$32,034.00 \$52,657.80 \$18,837.00 \$14,35.00 \$668.89 \$666,299.88 \$10,986.50 \$14,203.20 \$14,203.

S-3	1.5" Depth, Superpave WMA Wearing Course with FORTA-FI Fiber Re	SY	460	\$11.19	\$5,147.40	\$15.00	\$6,900.00	\$11.61	\$5,340.60	\$12.00	\$5,520.00	\$13.90	\$6,394.00
S-4	Base Repair including 10" Unclassified Excavation, Class IV Fabric, Ins	SY	90	\$29.75	\$2,677.50	\$30.00	\$2,700.00	\$45.34	\$4,080.60	\$25.00	\$2,250.00	\$44.83	\$4,034.70
S-5	3' Minimum Width Keyway Milling	LF	65	\$1.00	\$65.00	\$1.00	\$65.00	\$2.99	\$194.35	\$1.00	\$65.00	\$2.80	\$182.00
S-6	Maintenance and Protection of Traffic during Construction as per Pe	LS	1	\$2,000.00	\$2,000.00	\$8,000.00	\$8,000.00	\$1,500.26	\$1,500.26	\$1,500.00	\$1,500.00	\$752.50	\$752.50